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Read the following instructions carefully before you begin to answer the questions.

Important Instructions 

	 1.	 This Question Booklet is divided into two Parts — Part – I and Part – II. Part – I contains questions of 
General Studies and Part – II contains questions of D.El.Ed.

	 2.	 Part – I consists of Question Nos. 1 to 75 and Part – II consists of Question Nos. 76 to 150. The questions 
and their responses are printed in English and Hindi versions both of Part – I and Part – II.

	 3.	A ll questions carry equal marks.

	 4.	 An Answer Sheet has been supplied inside the question booklet to mark the answers. You must write 
your Roll Number and encode it and write other particulars in the space provided in the Answer 
Sheet, failing which your Answer Sheet will not be evaluated.

	 5.	I mmediately after commencement of the examination, you should check up your Question Booklet 
and attached answer sheet and ensure that the Question Booklet Series is printed on the top right-hand 
corner of the Booklet and the series encoded in answer sheet are same. Also please check that the 
Booklet contains 48 printed pages including two pages (Page Nos. 46 and 47) for Rough Work and 
no page or question is missing or unprinted or torn or repeated or question booklet and answer 
sheet have different series. If you find any defect in this Booklet and attached answer sheet, get it 
replaced immediately by a complete Booklet with OMR sheet of the same series.

	 6.	 You must write your Roll Number in the space provided on the top of this page. Do not write anything else 
on the Question Booklet.

	 7.	 Each question comprises of five responses — (A), (B), (C), (D) and (E). You are to select Only One correct 
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct 
responses marked by you in the Answer Sheet.

	 8.	 In the Answer Sheet, there are five circles — A , B , C , D  and E  against each question. To answer 
the questions, you are to mark with Black/Blue ink ballpoint pen Only one circle of your choice for each 
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more 
than one answer for one question, the answer will be treated as wrong. Use Black/Blue ink ballpoint 
pen only to mark the answer in the Answer Sheet. Any erasure or change is not allowed.

	 9.	 You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this 
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the 
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, 
you are permitted to take away the Question Booklet with you.

	 10.	 Failure to comply with any of the above instructions will render you liable to such action or penalty as the 
Commission may decide at their discretion.

	 11.	 Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self 
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART – I

	 1.	 Radish is an example of

	 (A)	 Conn

	 (B)	 modified stem

	 (C)	 Bulb		

	 (D)	 modified root		

	 (E)	 None of the above/More than one 
of the above

	 2.	 Arrange the following in a logical 
sequence.

	 1.	 Patient

	 2.	 Diagnosis

	 3.	 Bill

	 4.	 Doctor

	 5.	 Treatment

	 (A)	 1, 4, 3, 2, 5

	 (B)	 4, 1, 2, 3, 5

	 (C)	 1, 4, 2, 3, 5

	 (D)	 1, 4, 2, 5, 3

	 (E)	 None of the above/More than one 
of the above

	 3.	 The Eighth Schedule of the Indian 
Constitution deals with

	 (A)	 Urban Self governance

	 (B)	 Panchayat system

	 (C)	 Political defection

	 (D)	L anguages

	 (E)	 None of the above/More than one 
of the above

	 4.	 Which port of India is connected to 
the interior through the Palghat gap ?

	 (A)	 Marmagao

	 (B)	 New Mangalore

	 (C)	 Chennai

	 (D)	 Cochin

	 (E)	 None of the above/More than one 
of the above

	 5.	 An equilateral triangle is described on 
the diagonal of a square. What is the 
ratio of the area of the triangle to that 
of the square ?

	 (A)	 4 : 3

	 (B)	 3 : 4

	 (C)	 2 : 3

	 (D)	 3 : 2

	 (E)	 None of the above/More than one 
of the above

	 6.	 How many houses will be constructed 
under “P.M. Avas Yojana” during 
2022 – 23 according to Union Budget 
– 2022 ?

	 (A)	 50 Lac

	 (B)	 80 Lac

	 (C)	 1.10 Crore

	 (D)	 1.50 Crore

	 (E)	 None of the above/More than one 
of the above
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PART – I

	 1.	 _ybr {H$gH$m CXmhaU h¡ ?

	 (A)	 H$m°Z

	 (B)	 g§emo{YV VZm

	 (C)	 ~ë~

	 (D)	 g§emo{YV O‹S>

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 2.	 {ZåZ H$mo Vm{H©$H$ H«$_ _| ì`dpñWV H$a| &

	 1.	 _arO

	 2.	 {ZXmZ

	 3.	 {~b

	 4.	 {M{H$ËgH$

	 5.	 CnMma

	 (A)	 1, 4, 3, 2, 5

	 (B)	 4, 1, 2, 3, 5

	 (C)	 1, 4, 2, 3, 5

	 (D)	 1, 4, 2, 5, 3

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 3.	 ^maVr` g§{dYmZ H$s 8dt AZwgyMr _| d{U©V h¡

	 (A)	 ehar ñdemgZ Ho$ ~mao _|

	 (B)	 n§Mm`V ì`dñWm Ho$ ~mao _|

	 (C)	 amOZr{VH$ Xb-~Xb Ho$ ~mao _|

	 (D)	 ^mfmAm| Ho$ ~mao _|

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 4.	 ^maV H$m H$m¡Z-gm ~ÝXaJmh nmbKmQ> Xa} Ûmam 
AmÝV[aH$ joÌm| go Ow‹S>m h¡ ?

	 (A)	 _ma_mJmAmo

	 (B)	 Zdr _§Jbm¡a

	 (C)	 MoÝZB©

	 (D)	 H$moMrZ

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 5.	 EH$ dJ© Ho$ {dH$U© na EH$ g_~mhþ {Ì^wO ~Zm`m 
J`m h¡ & {Ì^wO Ho$ joÌ\$b H$m dJ© Ho$ joÌ\$b go 
AZwnmV Š`m h¡ ? 

	 (A)	 4 : 3

	 (B)	 3 : 4

	 (C)	 2 : 3

	 (D)	 3 : 2

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 6.	 g§Kr` ~OQ> – 2022 Ho$ AZwgma df© 
		  2022 – 23 H$s Ad{Y _| “nr.E_. Amdmg 

`moOZm” Ho$ VhV {H$VZo Amdmg ~Zm`o Om`|Jo ?

	 (A)	 50 bmI

	 (B)	 80 bmI

	 (C)	 1.10 H$amo‹S>

	 (D)	 1.50 H$amo‹S>

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$



06/HT/M – 2024/E	 4	

	 7.	 The first uplift of the Himalayas 
dates back to which one of the 
following periods ?

	 (A)	 Miocene

	 (B)	 Carboniferous

	 (C)	 Eocene

	 (D)	 Pliocene

	 (E)	 None of the above/More than one 
of the above

	 8.	 Which of the following is regarded as 
the first school of Democracy ?

	 (A)	L ocal self-Government
	 (B)	 Parliament
	 (C)	 Pressure Groups
	 (D)	 Political parties
	 (E)	 None of the above/More than one 

of the above

	 9.	 The deficiency of which vitamin 
causes night blindness	

	 (A)	 Vitamin B complex

	 (B)	 Vitamin E	

	 (C)	 Vitamin A	

	 (D)	 Vitamin C	

	 (E)	 None of the above/More than one 
of the above

	 10.	 The movement for separate provinces 
in Bihar, which resulted in the 
formation of the new province of 
Bihar and Orissa in the year 1911 
was led by

	 (A)	 Jayaprakash Narayan
	 (B)	 Acharya Narendra Dev
	 (C)	 Sachchidanand Sinha
	 (D)	 Sardar Patel
	 (E)	 Dr. Ram Manohar Lohia

	 11.	 The next letter in the series A, B, D, H, —  
will be 

	 (A)	 N

	 (B)	 P

	 (C)	L

	 (D)	 R

	 (E)	 None of the above/More than one 
of the above

	 12.	 Which of the following event 
happened at last as per chronological 
order ?

	 (A)	G andhi Irwin Pact
	 (B)	 Khilafat Movement
	 (C)	 Execution of Bhagat Singh
	 (D)	 Home Rule Movement
	 (E)	 Karachi Session of Indian National 

Congress

	 13.	 A number when divided by 6 leaves a 
remainder 3. when the square of the 
number is divided by 6, the remainder 
is

	 (A)	 1

	 (B)	 3

	 (C)	 0

	 (D)	 2

	 (E)	 None of the above/More than one 
of the above

	 14.	 After Poona Pact of 1932, Harijan 
Sewak Sangh was established. Its 
president was

	 (A)	 Mahatma Gandhi

	 (B)	 Amrit Lal Thakkar

	 (C)	G hanshyam Das Birla

	 (D)	L ala Lajpat Rai

	 (E)	 B.R.Ambedkar
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	 7.	 {h_mb` H$m àW_ CËWmZ {ZåZ{b{IV _| go 
{H$g àmMrZ `wJ _| hþAm Wm ? 

	 (A)	 _m`mogrZ

	 (B)	 H$m~m}{Z\o$ag

	 (C)	 BAmogrZ

	 (D)	 ßbm`mogrZ

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 8.	 {ZåZ{b{IV _| go {H$go bmoH$VÝÌ H$s àW_ 
nmR>embm _mZm OmVm h¡ ? 

	 (A)	 ñWmZr` ñdemgZ
	 (B)	 g§gX H$mo
	 (C)	 X~md g_yhm| H$mo
	 (D)	 amOZr{VH$ Xbm| H$mo
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 9.	 aVm¡§Yr {H$g {dQ>m{_Z H$s H$_r Ho$ H$maU hmoVr h¡ ? 

	 (A)	 {dQ>m{_Z B H$ånboŠg

	 (B)	 {dQ>m{_Z E

	 (C)	 {dQ>m{_Z A

	 (D)	 {dQ>m{_Z C

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 10.	 {~hma _| AbJ àm§V Ho$ {bE Am§XmobZ {OgHo$ 
n[aUm_ñdê$n df© 1911 _| {~hma Ed§ C‹S>rgm 
Ho$ Z ò àm§V H$m {Z_m©U hþAm, H$m ZoV¥Ëd {H$`m Wm 

	 (A)	 O`àH$me Zmam`U Zo

	 (B)	 AmMm`© ZaoÝÐ Xod Zo

	 (C)	 gpÀMXmZ§X {gÝhm Zo

	 (D)	 gaXma nQ>ob Zo

	 (E)	 S>m°. am_ _Zmoha bmo{h`m Zo

	 11.	 ûm¥§Ibm A, B, D, H, —  _| AJbm Aja hmoJm 

	 (A)	 N

	 (B)	 P

	 (C)	L

	 (D)	 R

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 12.	 H$mbH«$_ H$s ÑpîQ> go {ZåZ{b{IV KQ>ZmAm| _| 
go H$m¡Z A§{V_ Wr ? 

	 (A)	 Jm±Yr Ba{dZ g_Pm¡Vm
	 (B)	 {Ibm\$V Am§XmobZ
	 (C)	 ^JV qgh H$s \$m±gr
	 (D)	 hmo_ ê$b Am§XmobZ
	 (E)	 ^maVr` amîQ´>r` H$m§J«og H$m H$amMr	  

A{YdoeZ

	 13.	 {H$gr g§»`m H$mo 6 go {d^m{OV H$aZo na 3 eof 
~MVm h¡ & O~ g§»`m Ho$ dJ© H$mo 6 go {d^m{OV 
{H$`m OmVm h¡, Vmo eof\$b hmoVm h¡

	 (A)	 1

	 (B)	 3

	 (C)	 0

	 (D)	 2

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 14.	 1932	 _| nyZm n¡ŠQ> Ho$ ~mX h[aOZ godH$ g§K 
H$s ñWmnZm hþB© & BgHo$ AÜ`j 

	 (A)	 _hmË_m Jm±Yr Wo
	 (B)	 A_¥V bmb R>ŠH$a Wo
	 (C)	 KZí`m_ Xmg {~‹S>bm Wo
	 (D)	 bmbm bOnV am` Wo
	 (E)	 ~r.Ama. Aå~oS>H$a Wooo
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	 15.	 In human system, the digestive 
enzyme is not produced by	

	 (A)	 Pancreas	

	 (B)	 Stomach

	 (C)	L iver	

	 (D)	 Salivary glands	

	 (E)	 None of the above/More than one 
of the above

	 16.	 India’s first cable-stayed railway 
bridge is located in which state/
Union Territory ? 

	 (A)	 Arunachal Pradesh

	 (B)	 Jammu and Kashmir

	 (C)	 Sikkim

	 (D)	 More than one of the above

	 (E)	 None of the above

	 17.	 Which part of the Indian 
Constitution is concerned with the 
Panchayat Raj System ?

	 (A)	 Part – VI
	 (B)	 Part – IX – A
	 (C)	 Part – IX
	 (D)	 Part – XII
	 (E)	 None of the above/More than one 

of the above

	 18.	 The value of  
0.06 + 0.47 + 0.079

0.006 + 0.047 + 0.0079

2 2 2

2 2 2

( ) ( ) ( )
( ) ( ) ( )

 is

	 (A)	 10
	 (B)	 1000
	 (C)	 0.1
	 (D)	 100
	 (E)	 None of the above/More than one 

of the above

	 19.	 Which state of India developed 
Robotic Manhole Cleaning 
technology ? 

	 (A)	 Kerala

	 (B)	 Bihar

	 (C)	 Karnataka

	 (D)	 More than one of the above

	 (E)	 None of the above

	 20.	 The founder of Bihar socialist party 
was

	 (A)	 Jayaprakash Narayan

	 (B)	 J.B. Kripalani 

	 (C)	 Satya Bhakt

	 (D)	 Mulkraj Anand

	 (E)	 M.N. Rai

	 21.	 Which of the following is present in 
plants and not in animals ?	

	 (A)	 Fat

	 (B)	 Starch

	 (C)	 Cellulose	

	 (D)	 Protein		

	 (E)	 None of the above/More than one 
of the above

	 22.	 How much budget has been allocated 
to the “Gati Shakti Yojana” for the next 
25 years in the Union Budget – 2022 ?

	 (A)	 280 Lac Crores

	 (B)	 107 Lac Crores

	 (C)	 60 Lac Crores

	 (D)	 390 Lac Crores

	 (E)	 None of the above/More than one 
of the above
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	 15.	 _mZd V§Ì _| nmMH$ E§OmB_ {H$gHo$ Ûmam {Z{_©V 
Zht hmoVm h¡ ? 

	 (A)	 A¾me`
	 (B)	 noQ>
	 (C)	 {bda
	 (D)	 bma J«§{W
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 16.	 ^maV H$m àW_ Ho$~b AmYm[aV aoëdo nwb {H$g 
amÁ` /Ho$ÝÐ em{gV àXoe _§o pñWV h¡ ?

	 (A)	 AéUmMb àXoe
	 (B)	 Oå_y Am¡a H$í_ra
	 (C)	 {gpŠH$_
	 (D)	 Cn`w©º$ _| go EH$ go A{YH$
	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 17.	 ^maVr` g§{dYmZ H$m H$m¡Z-gm ^mJ n§Mm`V amO 
ì`dñWm go gå~pÝYV h¡ ?

	 (A)	 ^mJ - VI
	 (B)	 ^mJ - IX – A
	 (C)	 ^mJ - IX
	 (D)	 ^mJ - XII
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 18.	
0.06 + 0.47 + 0.079

0.006 + 0.047 + 0.0079

2 2 2

2 2 2

( ) ( ) ( )
( ) ( ) ( )

 H$m 

		  _mZ h¡ 

	 (A)	 10

	 (B)	 1000

	 (C)	 0.1

	 (D)	 100

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$	

	 19.	 ^maV Ho$ {H$g amÁ` Zo amo~mo{Q>H$ _¡Zhmob g\$mB© 
VH$ZrH$ {dH${gV H$s h¡ ?

	 (A)	 Ho$ab
	 (B)	 {~hma
	 (C)	 H$Zm©Q>H$
	 (D)	 Cn`w©º$ _| go EH$ go A{YH$
	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 20.	 {~hma gmoe{bñQ> nmQ>u Ho$ g§ñWmnH$ Wo 

	 (A)	 O`àH$me Zmam`U

	 (B)	 Oo.~r. H¥$nbmZr

	 (C)	 gË` ^ŠV

	 (D)	 _wëH$amO AmZ§X

	 (E)	 E_.EZ. am`

	 21.	 {ZåZ _| go H$m¡Z-gm nm¡Ym§o _| _m¡OyX hmoVm h¡ 
bo{H$Z OmZdam| _| Zht 

	 (A)	 \¡$Q>

	 (B)	 ñQ>mM©

	 (C)	 goë`ybmoO

	 (D)	 àmoQ>rZ

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 22.	 g§Kr` ~OQ>-2022 _| “J{V epŠV `moOZm” 
Ho$ {bE AJm_r 25 dfm] Ho$ {bE {H$VZm ~OQ> 
Am§d{Q>V {H$`m J`m h¡ ?

	 (A)	 280 bmI H$amo‹S>

	 (B)	 107 bmI H$amo‹S>

	 (C)	 60 bmI H$amo‹S>

	 (D)	 390 bmI H$amo‹S>

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$



06/HT/M – 2024/E	 8	

	 23.	 The major coal deposits of India are 
found in

	 (A)	 The Vindhyan system
	 (B)	 The Cretaceous system
	 (C)	 The Dharwar system
	 (D)	 The Gondwana system
	 (E)	 None of the above/More than one 

of the above

	 24.	
1

9 8

1

8 7

1

7 6−
−

− −( ) ( )
+
( )

−

		
1

6 5

1

5 4− −( )
+
( )  is equal to

	 (A)	 5

	 (B)	 7

	 (C)	 5

	 (D)	 2 5

	 (E)	 None of the above/More than one 
of the above

	 25.	 Which one of the following was 
the constitutional advisor to the 
constituent Assembly of India ?

	 (A)	 M.C. Setalvad
	 (B)	 Dr. B.N. Rau
	 (C)	 Dr. K.M. Munshi
	 (D)	 Dr. B.C. Chatterjee
	 (E)	 None of the above/More than one 

of the above

	 26.	 If A = 26, SUN = 27, then CAT = ?
	 (A)	 27
	 (B)	 77
	 (C)	 57
	 (D)	 32
	 (E)	 None of the above/More than one 

of the above

	 27.	L ight Emitting diodes (LED) used in 
fancy toys emit	

	 (A)	 Radio waves

	 (B)	 UV rays	

	 (C)	 Visible light	

	 (D)	 Infrared waves	

	 (E)	 None of the above/More than one 
of the above

	 28.	 The missing term in the sequence

		  2, 5, 16, 65, ? is

	 (A)	 326

	 (B)	 327

	 (C)	 131

	 (D)	 325

	 (E)	 None of the above/More than one 
of the above

	 29.	 Who established Satyagraha Ashram 
at Wardha ?

	 (A)	 Jamanalal Bajaj

	 (B)	 Acharya Kripalani

	 (C)	 Sarojini Naidu

	 (D)	 Vinoba Bhave

	 (E)	 Mahatma Gandhi

	 30.	 Right to Education (RTE) Act, 2009 
came into force on

	 (A)	 1 January, 2010

	 (B)	 1 January, 2011

	 (C)	 1 April, 2009

	 (D)	 1 April, 2010

	 (E)	 None of the above/More than one 
of the above

    E
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	 23.	 ^maV Ho$ à_wI H$mo`bm {Zjon {H$g H«$_ 
(system) _| nm`o OmVo h¢ ?

	 (A)	 {dÝÜ`Z H«$_
	 (B)	 H«$sQo{e`g H«$_
	 (C)	 Ymadma H«$_
	 (D)	 JmoÝS>dmZm H«$_
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 24.	
1

9 8

1

8 7

1

7 6−
−

− −( ) ( )
+
( )

−

		
1

6 5

1

5 4− −( )
+
( )  ~am~a h¡ 

	 (A)	 5

	 (B)	 7
	 (C)	 5
	 (D)	 2 5
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 25.	 {ZåZ{b{IV _| go H$m¡Z ^maV H$s g§{dYmZ g^m 
Ho$ g§d¡Ym{ZH$ gbmhH$ma Wo ? 

	 (A)	 E_. gr. grVbdm‹S>
	 (B)	 S>m°. ~r. EZ. amd
	 (C)	 S>m°. Ho$. E_. _w§er

	 (D)	 S>m°. ~r. gr. MQ>Ou

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 26.	 `{X A = 26, SUN = 27, then CAT = ?
	 (A)	 27
	 (B)	 77
	 (C)	 57
	 (D)	 32
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 27.	 \¢$gr {Ibm¡Zmo§ _§o à`moJ {H$`m OmZo dmbm àH$me 
CËgO©H$ S>m`mo‹S> CËg{O©V H$aVm h¡

	 (A)	 ao{S>`mo Va§Jo

	 (B)	 `y.dr. {H$aUo

	 (C)	 Ñí`_mZ àH$me

	 (D)	 BÝ\«$mao‹S> Va§Jo

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 28.	 AZwH«$_ 2, 5, 16, 65, ? _| bwßV nX h¡ 

	 (A)	 326

	 (B)	 327

	 (C)	 131

	 (D)	 325

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 29.	 dYm© _| gË`mJ«h Aml_ H$mo {H$gZo ñWm{nV 
{H$`m ? 

	 (A)	 O_Zmbmb ~OmO

	 (B)	 AmMm`© H¥$nbmZr

	 (C)	 gamo{OZr Zm`Sy>

	 (D)	 {dZmo~m ^mdo

	 (E)	 _hmË_m Jm±Yr

	 30.	 {ejm H$m A{YH$ma A{Y{Z`_, 2009 ApñVËd 
_| Am`m

	 (A)	 1 OZdar, 2010 go
	 (B)	 1 OZdar, 2011 go
	 (C)	 1 Aàob, 2009 go
	 (D)	 1 Aàob, 2010 go
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

    E
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	 31.	 If tall is equivalent to circle, Armymen 
to triangle and strong to square, 
indicate which number will represent 
strong Armymen in the figure given 
below ?

		

5

1

6

7

42

3

	 (A)	 5
	 (B)	 3
	 (C)	 6
	 (D)	 4
	 (E)	 None of the above/More than one 

of the above

	 32.	 Which one of the following does not 
from part of the preamble of the 
constitution ?

	 (A)	 Fraternity
	 (B)	 Dignity of the individual
	 (C)	 Federal
	 (D)	 Justice
	 (E)	 None of the above/More than one 

of the above

	 33.	 The average score of a cricketer		
for ten matches is 38.9 runs. If the 
average for the first six matches is 42, 
then find the average for the last four 
matches.

	 (A)	 34.25
	 (B)	 35
	 (C)	 33.25
	 (D)	 33.50
	 (E)	 None of the above/More than one 

of the above

	 34.	 Fluoride pollution in water chiefly 
affects	

	 (A)	 Kidney	
	 (B)	 Teeth
	 (C)	 Brain	
	 (D)	L iver	
	 (E)	 None of the above/More than one 

of the above

	 35.	 Which one of the following regions 
of India receives less than 25 cm of 
annual rainfall ?

	 (A)	 Kashmir Valley
	 (B)	 Malwa Plateau
	 (C)	 Nilgiri Hills
	 (D)	L adakh Region
	 (E)	 None of the above/More than one 

of the above

	 36.	 According to Koppen’s climatic 
classification, the climate of North 
Bihar may be explained as

	 (A)	 AW

	 (B)	 CB′W

	 (C)	 CWg

	 (D)	 CA′W

	 (E)	 None of the above/More than one 
of the above

	 37.	 Which one of the following is not 
correctly matched ?	

	 (A)	 Abul Kalam	 –	The Guiltimen 	
Azad		  of India’s Partition

	 (B)	 B.R. Ambedkar	– Mook Nayak

	 (C)	L ala Lajpat Rai	–	Unhappy India

	 (D)	 Valentine Chirol	–	Indian Unrest

	 (E)	 Sachindranath	–	Bandi Jivan

		  Sanyal
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	 31.	 `{X bå~m d¥Îm Ho$ g_Vwë` h¡, goZmE§ {Ì^wO Am¡a 
~bdmZ dJ© Ho$ Vwë` h¡, Vmo ZrMo {XE J`o {MÌ 
_| H$m¡Z-gr g§»`m ~bdmZ g¡{ZH$m| H$mo {Zê${nV 
H$aoJr ?

		

5

1

6

7

42

3

 
	 (A)	 5
	 (B)	 3
	 (C)	 6
	 (D)	 4

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 32.	 {ZåZ{b{IV _| go H$m¡Z-gm eãX g§{dYmZ H$s 
àñVmdZm _| Zht h¡ ?

	 (A)	 ~ÝYwËd
	 (B)	 ì`pŠV H$s J[a_m
	 (C)	 g§Kr`
	 (D)	 Ý`m`
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 33.	 EH$ {H«$Ho$Q>a H$m Xg _¡Mm| H$m Am¡gV 38.9 aZ 
h¡ & `{X nhbo N>h _¡Mm| H$m Am¡gV 42 h¡, Vmo 
ApÝV_ Mma _¡Mm| H$m Am¡gV kmV H$s{O`o & 

	 (A)	 34.25
	 (B)	 35
	 (C)	 33.25
	 (D)	 33.50
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 34.	 nmZr _| âbmoamB‹S> àXÿfU _w»`V: à^m{dV H$aVm 
h¡

	 (A)	 JwXm©
	 (B)	 Xm±V
	 (C)	 {X_mJ
	 (D)	 `H¥$V
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 35.	 {ZåZ{b{IV _| go ^maV Ho$ {H$g àXoe _| 
dm{f©H$ dfm© 25 go._r. go H$_ hmoVr h¡ ? 

	 (A)	 H$í_ra KmQ>r
	 (B)	 _mëdm nR>ma
	 (C)	 Zrb{Jar nhm{‹S>`m±
	 (D)	 bX²XmI àXoe
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 36.	 H$monoZ Ho$ Obdm`w dJuH$aU Ho$ AZwgma,  
CÎma {~hma H$s Obdm`w {H$ggo àX{e©V H$s 
OmVr h¡ ? 

	 (A)	 AW
	 (B)	 CB′W
	 (C)	 CWg
	 (D)	 CA′W

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 37.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ ghr gw_o{bV Zht 
h¡ ? 

	 (A)	 A~wb H$bm_ AmOmX	-	Xr {JëQ>r_oZ Am°\$ 	
		  B§{S>`mO nmQ>ueZ

	 (B)	 ~r.Ama. Aå~oS>H$a	 -	_yH$ Zm`H$

	 (C)	 bmbm bOnV am`	 -	AZh¡nr B§{S>`m

	 (D)	 doboÝQ>mBZ {eamob	 -	B§{S>`Z AZaoñQ>

	 (E)	 gMrÝÐZmW gmÝ`mb	 -	~§Xr OrdZ
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	 38.	 P is the son of Q. R, Q’s sister has	 
		  son S and daughter T. U is the maternal 

uncle of S. How is P related to S ?

	 (A)	 Nephew

	 (B)	 Brother

	 (C)	 Cousin

	 (D)	 Uncle

	 (E)	 None of the above/More than one 
of the above

	 39.	 Match the following :

	 Books 	A uthor

	 a.	L aila Majnu	 1.	Abdul Fazal

	 b.	 Akbar Nama	 2.	Abdul Hamid

	 c.	 Badsha Nama	 3.	Albiruni

	 d.	 Tahqeek -E-	 4.	Amir Khusrau 
		  Hind

		  Choose correct answer from the 
following :

	 (A)	 a – 1, b – 3, c – 4, d – 2

	 (B)	 a – 1, b – 2, c – 3, d – 4 

	 (C)	 a – 4, b – 1, c – 2, d – 3

	 (D)	 More than one of the above

	 (E)	 None of the above

	 40.	 Who among the following was 
appointed as the brand ambassador of 
‘Swachch Bharat Mission’ in 2017 ?

	 (A)	 Anushka Sharma

	 (B)	 Shilpa Shetty

	 (C)	 Amitabh Bachchan

	 (D)	 More than one of the above

	 (E)	 None of the above

	 41.	 Myopia disease is related to	

	 (A)	 Eyes	

	 (B)	 Throat

	 (C)	 Ears	

	 (D)	 Nose	

	 (E)	 None of the above/More than one 
of the above

	 42.	 The difference between the numerator 
and the denominator of a fraction is 5. 
If 5 is added to its denominator, the 

fraction is decreased by 11
4 . Find 

the value of the fraction.
	 (A)	 21

4
	 (B)	 6

	 (C)	 1
6

	 (D)	 31
4

	 (E)	 None of the above/More than one 
of the above

	 43.	 The journal ‘Ghadar’ of Ghadar Party 
was a 

	 (A)	 Fortnightly journal

	 (B)	 Daily journal

	 (C)	 Monthly journal

	 (D)	 Weekly journal

	 (E)	 None of the above

	 44.	 In cars and vehicles, the cooling of 
engine occurs by

	 (A)	 Air blower
	 (B)	 Radiator
	 (C)	 Air conditioner		
	 (D)	 Oil		
	 (E)	 None of the above/More than one 

of the above
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	 38.	 P, Q H$m nwÌ h¡ & R, Q H$s ~hZ, H$mo nwÌ S Am¡a 
nwÌr T h¡ & U, S H$m _m_m h¡ & P, S go {H$g 
àH$ma g§~§{YV h¡ ?

	 (A)	 ^m§Om

	 (B)	 ^mB©

	 (C)	 MMoam ^mB©

	 (D)	 MmMm

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 39.	 {ZåZ{b{IV H$mo gw_o{bV H$s{OE :
	 nwñVHo$§ 	 boIH$
	 a.	 b¡bm _OZy	 1.	AãXþb \$µOb
	 b.	 AH$~a Zm_m	 2.	AãXþb hm{_X
	 c.	 ~mXemh Zm_m	 3.	Ab{~ê$Zr
	 d.	 VhµH$sµH$-E-qhX	 4.	A{_a Iwgê$ 

		  {ZåZ{b{IV _o§ go ghr CÎma Mw{ZE :

	 (A)	 a – 1, b – 3, c – 4, d – 2

	 (B)	 a – 1, b – 2, c – 3, d – 4 

	 (C)	 a – 4, b – 1, c – 2, d – 3

	 (D)	 Cn`w©º$ _| go EH$ go A{YH$

	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 40.	 2017 _| {ZåZ{b{IV _§o go {H$go ‘ ñdÀN> ^maV 
{_eZ’ H$m ~«m§S> E§~ogS>a {Z`wŠV {H$`m J`m ?

	 (A)	 AZwîH$m e_m©

	 (B)	 {eënm eoÅ>r

	 (C)	 A{_Vm^ ~ƒZ

	 (D)	 Cn`w©º$ _| go EH$ go A{YH$

	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 41.	 _m`mo{n`m ~r_mar {ZåZ go gå~§{YV hmoVr h¡ 
	 (A)	 Am±I
	 (B)	 Jbm
	 (C)	 H$mZ
	 (D)	 ZmH$
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 42.	 EH$ {^Þ Ho$ A§e Am¡a ha Ho$ ~rM H$m AÝVa 5 
h¡ & `{X BgHo$ ha _| 5 Omo‹S>m OmVm h¡, Vmo {^Þ 
11

4  go H$_ hmo OmVm h¡ & {^Þ H$m _mZ kmV 

		  H$s{O`o & 
	 (A)	 21

4
	 (B)	 6

	 (C)	 1
6

	 (D)	 31
4

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 43.	 JXa nmQ>u H$m nÌ ‘ JXa’ Wm
	 (A)	 EH$ nm{jH$ nÌ
	 (B)	 EH$ X¡{ZH$ nÌ
	 (C)	 EH$ _m{gH$ nÌ
	 (D)	 EH$ gmßVm{hH$ nÌ 
	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 44.	 H$mam| Am¡a dmhZm| _| B§{OZ H$s Hy$qbJ {ZåZ Ho$ 
Ûmam hmoVr h¡

	 (A)	 E`a ãbmoAa
	 (B)	 ao{S>`oQ>a
	 (C)	 E`a H§$S>reZa
	 (D)	 Vob
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$
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	 45.	 Each year, World  Red Cross and 
Red Crescent Day is celebrated on 

	 (A)	 april 8

	 (B)	 May 18

	 (C)	 May 8

	 (D)	 More than one of the above

	 (E)	 None of the above

	 46.	 Five lines are intersecting each other. 
Find the maximum intersecting points 
possible.

	 (A)	 10

	 (B)	 20

	 (C)	 5

	 (D)	 15

	 (E)	 None of the above/More than one 
of the above

	 47.	 Which one of the following regions is 
most suitable for cotton cultivation ?

	 (A)	 Brahmputra valley

	 (B)	 Chhotanagpur plateau

	 (C)	G anga plain

	 (D)	 Deccan trap

	 (E)	 None of the above/More than one 
of the above

	 48.	 Epoxy resins are used as	

	 (A)	 Detergents	

	 (B)	 Pesticides

	 (C)	 Adhesives	

	 (D)	 Insecticides	

	 (E)	 None of the above/More than one 
of the above

	 49.	 Who said “Here (in India) is a revolution 
taking place and we should move 
quickly” ?

	 (A)	L ord Wavell

	 (B)	 Sir Stafford Cripps

	 (C)	 Clement Attlee

	 (D)	L ord Irwin

	 (E)	 Churchill

	 50.	 40% of the people read newspaper X, 
50% read newspaper Y and 10% read 
both the papers. What percentage of 
the people read neither newspaper ?

	 (A)	 15%

	 (B)	 25%

	 (C)	 10%

	 (D)	 20%

	 (E)	 None of the above/More than one 
of the above

	 51.	 Which one of the following river joins 
the Ganga at Fatuha ?

	 (A)	 Punpun

	 (B)	 Balan

	 (C)	 Son

	 (D)	 Sakri

	 (E)	 None of the above/More than one 
of the above

	 52.	 Photosynthesis becomes faster in

	 (A)	 Darkness	

	 (B)	 White light

	 (C)	 Blue light	

	 (D)	 Red light	

	 (E)	 None of the above/More than one 
of the above
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	 45.	 àË`oH$ df© {díd aoS> H«$m°g Am¡a aoS> {H«$g|Q> {Xdg 

_Zm`m OmVm h¡

	 (A)	 8 Aà¡b

	 (B)	 18 _B©

	 (C)	 8 _B©

	 (D)	 Cn`w©º$ _| go EH$ go A{YH$

	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 46.	 nm±M aoImE± EH$ Xÿgao H$mo à{VÀN>o{XV H$aVr h¡ & 
g§^d A{YH$V_ g§^m{dV à{VÀN>oXZ {~ÝXþAm| H$mo 
kmV H$a| & 

	 (A)	 10
	 (B)	 20
	 (C)	 5
	 (D)	 15
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 47.	 {ZåZ{b{IV _| go H$m¡Z-gm àXoe H$nmg H$s 
IoVr Ho$ {b`o AË`ÝV Cn`wŠV h¡ ? 

	 (A)	 ~«÷nwÌ KmQ>r

	 (B)	 N>moQ>mZmJnwa nR>ma

	 (C)	 J§Jm H$m _¡XmZ

	 (D)	 S>H$Z Q´>¡n

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 48.	 En°mŠgr ao{OZ H$m Cn`moJ {ZåZ Ho$ ê$n _| {H$`m 
OmVm h¡

	 (A)	 {S>Q>O]Q>
	 (B)	 H$sQ> ZmeH$
	 (C)	 {MnH$mZo _|
	 (D)	 BZgoŠQ>rgmB‹S>>
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 49.	 “`hm± (^maV _|) EH$ H«$m§{V hmoZo Om ahr h¡ Am¡a 
h_| OëXr go Mbo OmZm Mm{hE &” `h {H$gZo 
H$hm ?

	 (A)	 bm°S>© dodob
	 (B)	 ga ñQ>¡\$moS>© {H«$ßg
	 (C)	 Šbr_|Q> EQ>br
	 (D)	 bmS>© Ba{dZ
	 (E)	 M{M©b

	 50.	 40% bmoJ AI~ma X n‹T>Vo h§¡, 50% AI~ma 
Y n‹T>Vo h¢ Am¡a 10% bmoJ XmoZm| AI~ma n‹T>Vo h¢ & 
{H$VZo à{VeV bmoJ H$moB© AI~ma Zht n‹T>Vo h¢ ? 

	 (A)	 15%
	 (B)	 25%
	 (C)	 10%
	 (D)	 20%

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 51.	 {ZåZ{b{IV _| go H$m¡Z-gr ZXr \$Vwhm Ho$ nmg 
J§Jm _| {_bVr h¡ ?  

	 (A)	 nZnZ
	 (B)	 ~mbZ
	 (C)	 gmoZ
	 (D)	 gmH$ar
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 52.	 àH$me g§íbofU {ZåZ _| VoO hmo OmVm h¡

	 (A)	 A§Yoao _|

	 (B)	 g\o$X àH$me _|

	 (C)	 Zrbo àH$me _|

	 (D)	 bmb àH$me _|

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$
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	 53.	 Match the following parliament 
with its respective countries and 
choose the correct answer from given 
alternatives.

	 Country 	   Name of Parliament
	 a.	South Korea	1.	Kongreso	
	 b.	North Korea	 2.	National Assembly
	 c.	Nepal	 3.	Supreme People 	

		 Assembly
	 d.	Philippine	 4.		Legislature-		

		 Parliament 
	 (A)	 a – 2, b – 3, c – 4, d – 1
	 (B)	 a – 1, b – 2, c – 3, d – 4 
	 (C)	 a – 2, b – 4, c – 3, d – 1
	 (D)	 More than one of the above
	 (E)	 None of the above

	 54.	 Fill in the blank.
		  CARPET : TCEAPR : : _____________ : 

LNAANTOI
	 (A)	 NATIOLNL
	 (B)	 NATERANL
	 (C)	 NATIONPL
	 (D)	 NATIONAL
	 (E)	 None of the above/More than one 

of the above

	 55.	 Which of the following statement is 
correct ?

	 i.	L ala Lajpat Rai was never elected 
as President of Indian National 
Congress.

	 ii.	 Mahatma Gandhi was born at 
Gandhinagar.

	 iii.	 Bhagat Singh formed the forward 
Bloc.

	 (A)	 Only i
	 (B)	 Only iii
	 (C)	 Both i and ii
	 (D)	 Only ii
	 (E)	 None of the above

	 56.	 Which one of the following cities is 
called Manchester of Tamil Nadu ?

	 (A)	 Coimbatore

	 (B)	 Salem

	 (C)	 Chennai

	 (D)	 Madurai

	 (E)	 None of the above/More than one 
of the above

	 57.	 Which city is the location of recently 
inaugurated India’s First Girls 
Military school ?   

	 (A)	 Aligarh

	 (B)	 Faridabad

	 (C)	 Vrindavan

	 (D)	 More than one of the above

	 (E)	 None of the above

	 58.	 INSAT-3D was launched on which 
date of the following ?

	 (A)	 17th February, 2024

	 (B)	 17th January, 2024

	 (C)	 16th February, 2024

	 (D)	 More than one of the above

	 (E)	 None of the above

	 59.	 The semi-conductor among the 
following is	

	 (A)	G old

	 (B)	 Silver

	 (C)	G lass	

	 (D)	 Silicon		

	 (E)	 None of the above/More than one 
of the above
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	 53.	 {ZåZ{b{IV g§gX H$mo CgHo$ g§~§{YV Xoem§o go 
gw_o{bV H$ao§ Am¡a {XE JE {dH$ënm| _| go ghr 
CÎma Mw{ZE &

	 Xoe  	 g§gX H$m Zm_
	 a.	X{jU H$mo[a`m	 1.	H$m§J«g	
	 b.	CÎma H$mo[a`m	 2.	amîQ´>r` g^m
	 c.	Zonmb	 3.	gdm}ƒ bmoH$ g^m
	 d.	{\$brnrZ	 4.		{dYm{`H$m g§gX 
	 (A)	 a – 2, b – 3, c – 4, d – 1
	 (B)	 a – 1, b – 2, c – 3, d – 4 
	 (C)	 a – 2, b – 4, c – 3, d – 1
	 (D)	 Cn`w©º$ _| go EH$ go A{YH$
	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 54.	 [aŠV ñWmZ H$mo ^a| & 

		  CARPET : TCEAPR : : _____________ : 
LNAANTOI

	 (A)	 NATIOLNL

	 (B)	 NATERANL

	 (C)	 NATIONPL

	 (D)	 NATIONAL

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 55.	 {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ghr h¡ ? 

	 i.	 bmbm bOnV am` ̂ maVr` amîQ´>r` H$m§J«og Ho$ 
AÜ`j H$^r ^r Zht MwZo J`o Wo &

	 ii.	 _hmË_m Jm§Yr H$m OÝ_ Jm§YrZJa _| hþAm Wm &

	 iii.	 ^JV qgh Zo \$madS>© ãbm°H$ J{R>V {H$̀ m Wm &

	 (A)	 Ho$db i

	 (B)	 Ho$db iii

	 (C)	 XmoZm| i d ii 

	 (D)	 Ho$db ii

	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 56.	 {ZåZ{b{IV ZJam| _| go H$m¡Z-gm ZJa V{_bZmSw> 
H$m _¡ZMoñQ>a H$hm OmVm h¡ ? 

	 (A)	 H$mo`_~Q>moa

	 (B)	 gbo_

	 (C)	 MoÝZB©

	 (D)	 _Xþa¡

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 57.	 hmb hr _| CX²KmQ>Z {H$E JE ^maV Ho$ nhbo ~m{bH$m 
g¡Ý` {dÚmb` H$m ñWmZ H$m¡Z-gm eha h¡ ?

	 (A)	 AbrJ‹T>

	 (B)	 \$arXm~mX

	 (C)	 d¥§XmdZ

	 (D)	 Cn`w©º$ _| go EH$ go A{YH$

	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 58.	 INSAT-3D {ZåZ{b{IV _o§ go {H$g VmarI H$mo 
bm°ÝM {H$`m J`m Wm ?

	 (A)	 17 \$adar, 2024

	 (B)	 17 OZdar, 2024  

	 (C)	 16 \$adar, 2024

	 (D)	 Cn`w©º$ _| go EH$ go A{YH$

	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 59.	 {ZåZ _| AY©MmbH$ (go_rH§$S>ŠQ>a) h¡ 

	 (A)	 gmoZm

	 (B)	 Mm±Xr

	 (C)	 ½bmg

	 (D)	 {g{bH$m°Z

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$
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	 60.	 The water proof properties of raincoats 
and tents are due to	

	 (A)	 Viscosity	

	 (B)	 Specific gravity

	 (C)	 Elasticity	

	 (D)	 Surface tension	

	 (E)	 None of the above/More than one 
of the above

	 61.	 Who among the following was 
awarded the Sahitya Academy 
Award-2023 in ‘Urdu Literature’ ? 

	 (A)	 Tausif Barailwy

	 (B)	 Manowar Rana

	 (C)	 Sadiqa Nawab

	 (D)	 More than one of the above

	 (E)	 None of the above

	 62.	 An article when sold at a gain of 5% 
yields Rs. 15 more than when sold at 
a loss of 5%. Its cost price would be

	 (A)	 200

	 (B)	 300

	 (C)	 150

	 (D)	 250

	 (E)	 None of the above/More than one 
of the above

	 63.	 The Office of India’s President does 
not characterize the combination of 
Governmental systems of

	 (A)	 Presidential and Republican
	 (B)	 Parliamentary and Republican
	 (C)	 Democratic and Republican
	 (D)	 Parliamentary and Federal
	 (E)	 None of the above/More than one 

of the above

	 64.	 Which one of the following National 
Highways passes through Uttar Pradesh, 
Madhya Pradesh and Maharashtra ?

	 (A)	 NH – 3

	 (B)	 NH – 5

	 (C)	 NH – 2

	 (D)	 NH – 4

	 (E)	 None of the above/More than one 
of the above

	 65.	 If CIRCLE is coded as DKUFNF, then 
code of SQUARE is

	 (A)	 TSXDTF

	 (B)	 TXDTFS

	 (C)	 TSXDFT

	 (D)	 TXSDFT

	 (E)	 None of the above/More than one 
of the above

	 66.	 Who among the following leader 
presided over the Calcutta Congress 
Session in 1906 ?

	 (A)	G opal Krishna Gokhale

	 (B)	 Surendranath Banerjee

	 (C)	 Bal Gangadhar Tilak 

	 (D)	 Jinnah

	 (E)	 None of the above

	 67.	 The acid used by the human body to 
help digestion is	

	 (A)	 Boric acid

	 (B)	 Nitric acid

	 (C)	 Acetic acid	

	 (D)	 Hydrochloric acid		

	 (E)	 None of the above/More than one 
of the above
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	 60.	 aoZH$moQ> Am¡a Q>|Q> Ho$ dmQ>a ày\$ JwU {H$gHo$ H$maU 
hmoVo h¡ ? 

	 (A)	 í`mZVm
	 (B)	 {d{eîQ> JwéËd
	 (C)	 BbmpñQ>{gQ>r
	 (D)	 gVh VZmd
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 61.	 {ZåZ{b{IV _| go {H$go ‘ CX©ÿ gm{hË` ’ _| gm{hË` 
AH$mX_r nwañH$ma - 2023 go gå_m{ZV {H$̀ m J`m ? 

	 (A)	 Vm¡gr\$ ~a¡bdr

	 (B)	 _Zìda amUm 

	 (C)	 gm{XH$m Zdm~

	 (D)	 Cn`w©º$ _| go EH$ go A{YH$

	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 62.	 EH$ dñVw O~ 5% Ho$ bm^ na ~oMr OmVr h¡, Vmo 
5% H$s hm{Z na ~oMZo go 15 én`m A{YH$ àmpßV 
hmoVr h¡ & BgH$m bmJV _yë` hmoJm 

	 (A)	 200
	 (B)	 300
	 (C)	 150
	 (D)	 250

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 63.	 ^maV Ho$ amîQ´>n{V H$m H$m`m©b` gaH$mar 
àUm{b`m| Ho$ {H$g g§̀ moOZ H$s {deofVm Zht h¡ ?

	 (A)	 AÜ`jH$s` Ed§ JUV§ÌmË_H$

	 (B)	 g§gXr` Ed§ JUV§ÌmË_H$

	 (C)	 àOmVm§{ÌH$ Ed§ JUV§ÌmË_H$ 

	 (D)	 g§gXr` Ed§ g§Kr`

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 64.	 {ZåZ{b{IV _| go H$m¡Z-gm amîQ´>r` amO_mJ©  
CÎma àXoe, _Ü` àXoe VWm _hmamîQ´> go  
JwOaVm h¡ ? 

	 (A)	 NH – 3
	 (B)	 NH – 5
	 (C)	 NH – 2
	 (D)	 NH – 4
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 65.	 `{X CIRCLE H$mo DKUFNF Ho$ ê$n _| H$mo{S>V 
{H$`m OmVm h¡, Vmo SQUARE H$m H$moS> h¡

	 (A)	 TSXDTF
	 (B)	 TXDTFS
	 (C)	 TSXDFT
	 (D)	 TXSDFT
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 66.	 {ZåZ{b{IV _| go {H$g ZoVm Zo 1906 _| H$bH$Îmm 
H$m§J«og A{YdoeZ H$s AÜ`jVm H$s Wr ?

	 (A)	 Jmonmb H¥$îU JmoIbo

	 (B)	 gwaoÝÐZmW ~¡ZOu

	 (C)	 ~mb J§JmYa {VbH$

	 (D)	 {OÝZm

	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 67.	 _mZd eara Ûmam nmMZ _| ghm`Vm Ho$ {b`o 
à`moJ {H$`m OmZo dmbm Aåb h¡ 

	 (A)	 ~mo[aH$ Aåb

	 (B)	 ZmB{Q´>H$ Aåb

	 (C)	 E{g{Q>H$ Aåb

	 (D)	 hmBS´>moŠbmo[aH$ Aåb

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$
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	 68.	 A sum of money doubles itself at		
compound interest in 15 years. In 
how many years will it become eight 
times ?

	 (A)	 35 years

	 (B)	 45 years

	 (C)	 25 years

	 (D)	 40 years

	 (E)	 None of the above/More than one 
of the above

	 69.	 Which country/countries was/were 
the host of Cricket Asia Cup – 2023 ? 

	 (A)	 Afghanistan

	 (B)	 Sri Lanka and Pakistan

	 (C)	 India and Bangladesh

	 (D)	 More than one of the above

	 (E)	 None of the above

	 70.	 The process in which oxygen is 
removed is known as	

	 (A)	 Electrolysis	

	 (B)	 Reduction

	 (C)	 Catalysis	

	 (D)	 oxidation	

	 (E)	 None of the above/More than one 
of the above

	 71.	 Judicial review’s doctrine of partial 
Annulment is related to which Article 
of the Indian Constitution ?

	 (A)	 Article – 13

	 (B)	 Article – 352

	 (C)	 Article – 246

	 (D)	 Article – 32

	 (E)	 None of the above/More than one 
of the above

	 72.	 A man walks 1 km towards East and 
then he turns to South and walks  
5 km. Again he turns to East and 
walks 2 km, after this he turns to 
North and walks 9 km. Now, how far 
is he from his starting point ?

	 (A)	 4 km

	 (B)	 7 km

	 (C)	 3 km

	 (D)	 5 km

	 (E)	 None of the above/More than one 
of the above

	 73.	 In which one of the following States, 
the lowest size of land holdings is 
found ?

	 (A)	 Assam
	 (B)	 Odisha
	 (C)	 Andhra Pradesh
	 (D)	 Bihar
	 (E)	 None of the above/More than one 

of the above

	 74.	 If log x + log 1
6 = 1

38 8 , then the value 
		  of x is
	 (A)	 16
	 (B)	 24
	 (C)	 12
	 (D)	 18
	 (E)	 None of the above/More than one 

of the above

	 75.	 Saurology is the study of

	 (A)	L izards

	 (B)	 Mosquitoes

	 (C)	 Cockroaches	 	

	 (D)	 Bats		

	 (E)	 None of the above/More than one 
of the above
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	 68.	 EH$ am{e MH«$d¥{Õ ã`mO na 15 dfm] _| AnZo 
Amn XþJZr hmo OmVr h¡ & {H$VZo dfm] _| `h AmR> 
JwUm hmo Om`oJm ?

	 (A)	 35 df©
	 (B)	 45 df©
	 (C)	 25 df©
	 (D)	 40 df©
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 69.	 {H«$Ho$Q> E{e`m H$n-2023 H$m _oµO~mZ H$m¡Z-gm 
Xoe Wm /Wo ?

	 (A)	 A\$Jm{ZñVmZ
	 (B)	 lrb§H$m Ed§ nm{H$ñVmZ 
	 (C)	 ^maV Ed§ ~§m½bmXoe
	 (D)	 Cn`w©º$ _| go EH$ go A{YH$
	 (E)	 Cn`w©º$ _| go H$moB© Zht

	 70.	 dh à{H«$`m {Og_| Am°ŠgrOZ H$mo hQ>m`m OmVm 
h¡, H$hVo h¢ 

	 (A)	 {dÚwVnKQ>Z

	 (B)	 AdH$aU

	 (C)	 CËàoaU

	 (D)	 Am°ŠgrH$aU

	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 
A{YH$

	 71.	 Ý`m{`H$ nwZamdbmoH$Z H$m Am§{eH$ {ZañVrH$aU 
{gÕmÝV ^maVr` g§{dYmZ Ho$ {H$g AZwÀN>oX go 
gå~pÝYV h¡ ?

	 (A)	 AZwÀN>oX – 13
	 (B)	 AZwÀN>oX – 352
	 (C)	 AZwÀN>oX – 246
	 (D)	 AZwÀN>oX – 32
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 72.	 EH$ AmX_r nyd© H$s Amoa 1 {H$_r MbVm h¡ Am¡a 
{\$a dh X{jU H$s Amoa _w‹S>Vm h¡ Am¡a 5 {H$_r 
MbVm h¡ & {\$a go dh nyd© H$s Amoa _w‹S>Vm h¡ Am¡a 
2 {H$_r MbVm h¡, BgHo$ ~mX dh CÎma H$s Amoa 
_w‹S>Vm h¡ Am¡a 9 {H$_r MbVm h¡ & A~, dh AnZo 
eê$AmVr {~ÝXþ go {H$VZr Xÿa h¡ ? 

	 (A)	 4 {H$_r
	 (B)	 7 {H$_r
	 (C)	 3 {H$_r
	 (D)	 5 {H$_r
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 73.	 {ZåZ{b{IV amÁ`m| _| go {H$g amÁ` _| ^y{_-OmoV 
Ho$ AmH$ma g~go H$_ nm`o OmVo h¢ ? 

	 (A)	 Ag_
	 (B)	 AmoS>rem
	 (C)	 Am§Y« àXoe
	 (D)	 {~hma
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 74.	 `{X log x + log 1
6 = 1

38 8  h¡, Vmo x H$m _mZ 
h¡ 

	 (A)	 16
	 (B)	 24
	 (C)	 12
	 (D)	 18
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$

	 75.	 g¡amobm°Or {ZåZ H$m AÜ``Z h¡
	 (A)	 {N>nH${b`m| H$m
	 (B)	 _ÀN>am| H$m
	 (C)	 H$m°H$amoMm| H$m
	 (D)	 M_JmX‹S> H$m
	 (E)	 Cn`©wº$ _| go H$moB© Zht/Cn`©wº  _| go EH$ go 

A{YH$
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PART – II

	 76.	 The best indication of a well 
integrated social order is

	 (A)	 The commonness of ideology and 
purpose

	 (B)	 The relative absence of 	  
socio-economic cleavage/split

	 (C)	 The solidarity of a group in times 
of crisis

	 (D)	 The productivity of the members

	 (E)	 None of the above/More than one 
of the above

	 77.	 The main purpose of education should 
be the integrated development of a 
person. Whose statement is this ?

	 (A)	 Rabindranath Tagore

	 (B)	 Swami Vivekananda

	 (C)	 Sri Aurobindo

	 (D)	 Mahatma Gandhi

	 (E)	 None of the above/More than one 
of the above

	 78. 	 Teaching aids are useful because 
they

	 (A) 	 Activate all senses

	 (B) 	 Make learning more meaningful

	 (C) 	 Help teacher’s work

	 (D) 	 Help students to be attentive

	 (E) 	 None of the above/More than one 
of the above

	 79.	 Identify the specific interventions 
introduced for Universalisation of 
elementary education. 

	 (A)	 Distribution of free books and 
uniforms

	 (B)	 Kasturba Gandhi Balika 
Vidyalaya

	 (C)	 Mid day meal

	 (D)	 Sarva Shiksha Abhiyan

	 (E)	 None of the above/More than one 
of the above

	 80.	 Education is considered as a	   
sub-system of a social system	  
because

	 (A)	 It has a complex structure

	 (B)	 It has various interacting		
components determining social 
goals

	 (C)	 It provides essential service that 
society has to provide to the		
people

	 (D)	 It has well defined objectives and 
functions to promote adaptations

	 (E)	 None of the above/More than one 
of the above

	 81.	 The ultimate purpose of Gandhian 
education is the

	 (A)	 Promotion of human beings

	 (B)	 Salvation for all

	 (C)	 Creation of a classless society

	 (D)	 Development of a human and 	
awakened society

	 (E)	 None of the above/More than one 
of the above
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PART – II

	 76.	 EH$ gwg_mH${bV gm_m{OH$ ì`dñWm H$m 
gdm©oÎm_ gyMH$ Š`m h¡ ?

	 (A)	 {dMmaYmam Am¡a à`moOZ H$s gm_mÝ`Vm

	 (B)	 gm_m{OH$ Am{W©H$ {d^oX H$s gmnoj	 
AZwnpñW{V

	 (C)	 g§H$Q> Ho$ g_` g_yh H$s AI§S>Vm

	 (D)	 gXñ`m| H$s CËnmXH$Vm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 77.	 {ejm H$m _w»` CÔoí` ì`pŠV H$m g_J« {dH$mg 
hmoZm Mm{hE & `h {H$gH$m H$WZ h¡ ? 

	 (A)	 a{dÝÐZmW Q>¡Jmoa

	 (B)	 ñdm_r {ddoH$mZÝX

	 (C)	 lr Aa{dÝXmo

	 (D)	 _hmË_m Jm±Yr

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 78.	 e¡{jH$ ghm`H$ gm_{J«`m§ Cn`moJr hmoVr h¢, 
Š`m|{H$ do 

	 (A)	 g^r kmZopÝÐ`m| H$mo g{H«$` ~ZmVr h¢

	 (B)	 grIZo H$mo A{YH$ AW©dmZ ~ZmVr h¢

	 (C)	 {ejH$ Ho$ H$m_ _| _XX H$aVr h¢

	 (D)	 N>mÌm| H$mo Ü`mZ Ho$pÝÐV H$aZo _o§ ghm`H$ h¢

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 79.	 àma§{^H$ {ejm Ho$ gmd©^m¡{_H$aU hoVw ewê$ H$s 
JB© {ZåZ{b{IV _| go {deof Cnm`m| H$s nhMmZ 
H$s{OE &

	 (A)	 {Z:ewëH$ nwñVH$m|$ Ed§ ẁ{Z\$m_m] H$m {dVaU

	 (B)	 H$ñVw~m© Jm±Yr ~m{bH$m {dÚmb`

	 (C)	 _Ü`m• ^moOZ

	 (D)	 gd© {ejm A{^`mZ

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 80.	 {ejm H$mo gm_m{OH$ V§Ì H$m Cn-V§Ì _mZm OmVm h¡ 
Š`m|{H$

	 (A)	 BgH$s g§aMZm O{Q>b h¡

	 (B)	 Bg_| gm_m{OH$ bú` H$mo AdYm[aV H$aZo dmbo 
{d{^ÝZ A§V: {H«$`mË_H$ g§KQ>H$ em{_b h¡

	 (C)	 Bggo g_mO Ûmam bmoJm| H$mo àXmZ H$s OmZo 
dmbr Amdí`H$ godm CnbãY hmoVr h¡

	 (D)	 Bg_| AZwHy$bZ Ho$ g§dÕ©Z hoVw gw-n[a^m{fV 
CÔoí` Am¡a àH$m`© h¡

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 81.	 Jm±YrdmXr {ejm H$m Ma_ bú` h¡ 

	 (A)	 _mZd Om{V H$m CËWmZ

	 (B)	 g~Ho$ {bE _moj

	 (C)	 dJ©a{hV g_mO H$m g¥OZ

	 (D)	 _mZdr` Am¡a M¡VÝ` g_mO H$m {dH$mg

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$
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	 82. 	 In which year was the 42nd 
Constitutional Amendment made to 
include education in concurrent list ?

	 (A) 	 1974

	 (B) 	 1978

	 (C) 	 1972

	 (D) 	 1976

	 (E) 	 None of the above/More than one 
of the above

	 83.	 The concept of distance education 
implies

	 (A)	 Using mass media and computer 
in class

	 (B)	 Employing non-conventional	
methods of teaching learning except 
face to face teaching methods

	 (C)	 Imparting education from a 
distance

	 (D)	 Imparting quality education		
through mitigating the negative	
effects of distance in education

	 (E)	 None of the above/More than one 
of the above

	 84.	 In which year the NCERT came into 
being ?

	 (A)	 1952

	 (B)	 1961

	 (C)	 1948

	 (D)	 1956

	 (E)	 None of the above/More than one 
of the above

	 85.	 In which of the following model there 
is a maximum scope of change in 
curricular contents by the state 
boards of school education ?

	 (A)	 Administrative Model

	 (B)	G rassroot Model

	 (C)	 Demonstration model

	 (D)	 System Analysis Model

	 (E)	 None of the above/More than one 
of the above

	 86.	 The reality is in the constant flux, 
hence knowledge is essentially relative 
in nature. Who among the following 
educators support this view ?

	 (A)	 John Dewey

	 (B)	L eibnitz

	 (C)	 Immanuel Kant

	 (D)	 David Hume

	 (E)	 None of the above/More than one 
of the above

	 87.	 The concept of cultural lag was 
developed by

	 (A)	 David Cooper

	 (B)	 M.N. Sriniwas

	 (C)	 Ogburn

	 (D)	 Ottoway

	 (E)	 None of the above/More than one 
of the above
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	 82.	 {H$g df© _| 42 dm±> g§{dYmZ g§emoYZ {ejm Ho$  

g_dVu gyMr _| g_m{dîQ> H$aZo hoVw {H$̀ m J`m Wm ?

	 (A) 	 1974

	 (B) 	 1978

	 (C) 	 1972

	 (D) 	 1976

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 83.	 XÿadVu {ejm H$s AdYmaUm go VmËn`© h¡ 

	 (A)	 H$jm _| OZg§Mma Ed§ H$åß`yQ>a H$m à`moJ

	 (B)	 Am_Zo-gm_Zo {ejU {d{Y`m| H$mo N>mo‹S>H$a 

{ejU Ho$ J¡a-nmaån[aH$ VarH$m| H$mo 	

AnZmZm

	 (C)	 Xÿa go {ejm H$s ì`dñWm H$aZm

	 (D)	 {ejm _| Xÿar Ho$ ZH$mamË_H$ à^mdm| H$mo H$_ 
H$aVo hþE JwUdÎmmnyU© {ejm XoZm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 84.	 EZ.gr.B©.Ama.Q>r. H$s ñWmnZm {H$g df© _| hþB© ? 

	 (A)	 1952 _|

	 (B)	 1961 _|

	 (C)	 1948 _|

	 (D)	 1956 _|

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 85.	 {ZåZ{b{IV _| go {H$g à{V_mZ _| amÁ` ñHy$b {ejm 
~moS>© Ûmam nmR²>̀ H«$_ H$s {df`dñVw _| A{YH$V_ 
~Xbmd {H$E OmZo H$s g§̂ mdZm hmoVr h¡ ?

	 (A)	 àemg{ZH$ à{V_mZ

	 (B)	 AmYm[aH$ à{V_mZ

	 (C)	 àXe©Z à{V_mZ

	 (D)	 àUmbr {díbofU à{V_mZ

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$

	 86.	 `WmW© {Za§Va n[adV©ZerZ h¡, Bg{bE kmZ 
H$m ñdê$n A{Zdm`©V: gmno{jH$ hmoVm h¡ & 
{ZåZ{b{IV _| go H$m¡Z-gm {ejm{dÕ Bg H$WZ 
H$m g_W©Z H$aVm h¡ ? 

	 (A)	 Om°Z S>rdr

	 (B)	 br~ZrQ²>g

	 (C)	 B_oZwAb H$m§Q>

	 (D)	 S>o{dS> øy_

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 87.	 g§mñH¥${VH$-níMVm H$s AdYmaUm H$m {dH$mg 
{ZåZ{b{IV _| go {H$gZo {H$`m Wm ?

	 (A)	 S>¡{dS> Hy$na

	 (B)	 E_.EZ.lr{Zdmg

	 (C)	 Am°J~Z©

	 (D)	 AmoQ>modo

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$
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	 88.	 A person is considered as legally blind 
if his visual acuity is measured

	 (A)	 20/200

	 (B)	 20/30

	 (C)	 20/70

	 (D)	 20/40

	 (E)	 None of the above/More than one 
of the above

	 89.	 SEN stands for

	 (A)	 Special Educational Needs

	 (B)	 Special Employment Needs

	 (C)	 Special Empowerment Needs

	 (D)	 Special Economical Needs

	 (E)	 None of the above/More than one 
of the above

	 90.	 Which of the following factors 
influence curriculum change ?

	 (A)	 Availability of competent teachers
	 (B)	 Job placement
	 (C)	 Technology change
	 (D)	 Needs and aspirations of 		

teachers
	 (E)	G rowth in knowledge	

	 91.	 According to educational sociologists 
the role of education should focus on

	 (A)	 Enculturation of participants in 
education

	 (B)	 Modification of values of teachers

	 (C)	 Social integration among the	
groups

	 (D)	 Social mobility of the	 
downtrodden

	 (E)	 None of the above/More than one 
of the above

	 92.	 The curriculum of the school exists 
for the purpose of

	 (A)	 Providing the child with meaningful 
and educative experiences

	 (B)	 Providing uniformity in schools

	 (C)	 Setting standards for academic 
attainment

	 (D)	 Providing the child with skills 
necessary for effective living

	 (E)	 None of the above/More than one 
of the above

	 93.	 What is the full form of the SWAYAM ?

	 (A)	 Study Webs of Active Learning for 
Young Aspiring Minds

	 (B)	 Students Webs of Active Learning 
for Youth Aspiring Minds

	 (C)	 School Website of Active Lesson 
for Youth Aspiring Minds

	 (D)	 Student Website of Active		
interaction for Young Aspiring 
Minds

	 (E)	 None of the above/More than one 
of the above

	 94.	 The report towards an enlightened 
and human society is also known by 
the name

	 (A)	 Acharya Ram Murthy Report

	 (B)	 Janardhan Committee Report

	 (C)	 Kothari commission report

	 (D)	 Yashpal Committee Report

	 (E)	 None of the above/More than one 
of the above



06/HT/M–2024/E	 27	 [ P.T.O.

	 88.	 {H$gr ì`pŠV H$mo H$mZyZr Vm¡a na Ñ{ï>hrZ V~ 
_mZm OmVm h¡ O~ CgH$s Ñí` VrúUVm _mnr 
OmVr h¡

	 (A)	 20/200
	 (B)	 20/30
	 (C)	 20/70
	 (D)	 20/40

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 89.	 Eg.B©.EZ. (SEN) H$m nyU© ê$n h¡
	 (A)	 ñnoeb EOyHo$eZb ZrS²>g
	 (B)	 ñnoeb B_ßbmE_|Q> ZrS²>g
	 (C)	 ñnoeb B_nm°da_|Q> ZrS²>g
	 (D)	 ñnoeb BH$moZm°{_H$b ZrS²>g
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 90.	 {ZåZ{b{IV _| go H$m¡Z-gm H$maH$ nmR²>`H«$_ 	
n[adV©Z H$mo à^m{dV H$aVm h¡ ? 

	 (A)	 gj_ {ejH$m| H$s CnbãYVm
	 (B)	 Om°~ ßbog_|Q>
	 (C)	 àm¡X²`mo{JH$s n[adV©Z
	 (D)	 {ejH$m| H$s Amdí`H$VmE§ Am¡a AmH$m§jmE§
	 (E)	 kmZ _| d¥X²{Y

	 91.	 {ejm g_mOemñÌr`m| Ho$ AZwgma, {ejm H$s
		  ŷ{_H$m {ZåZ{b{IV _| go {H$g na Ho$pÝÐV hmoZm 	

Mm{hE ?
	 (A)	 {ejm OJV Ho$ à{V^m{J`m| _| gm§ñH¥${VH$ 

^md CËnÝZ {H$`m OmZm
	 (B)	 {ejH$m| Ho$ _yë`m| H$m AmemoYZ
	 (C)	 g_yhm| Ho$ _Ü` gm_m{OH$ EH$sH$aU
	 (D)	 X{bV dJ© H$s gm_m{OH$ J{VerbVm
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 92.	 {dÚmb` H$s nmR²>`MMm© H$m CÔoí` `m à`moOZ 
hmoVm h¡ 

	 (A)	 ~ÀMm| H$mo gmW©H$ Am¡a e¡{jH$ AZw^d àXmZ 
H$aZm

	 (B)	 {dÚmb`m| _| EH$ê$nVm àXmZ H$aZm

	 (C)	 e¡{jH$ CnbpãY Ho$ _mZH$m| H$m {ZYm©aU

	 (D)	 ~ÀMm| H$mo Eogo H$m¡eb àXmZ H$aZm Omo à^mdr 
OrdZ Ho$ {bE Amdí`H$ h¢

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 93.	 SWAYAM H$m nyU© ê$n Š`m h¡ ? 

	 (A)	 ñQ>S>r do~²O Am°\$ EpŠQ>d b{ZªJ \$m°a `§J 
Agnm`[a¨J _mB§S²>g

	 (B)	 ñQy>S>|Q²>g do~²O> Am°\$ EpŠQ>d b{ZªJ \$m°a `yW 
Agnm`[a¨J _mB§S²>g

	 (C)	 ñHy$b do~gmBQ> Am°\$ EpŠQ>d b¡gZ \$m°a ̀ yW 
Agnm`[a¨J _mB§S²>g

	 (D)	 ñQy>S>|Q> do~gmBQ> Am°\$ EpŠQ>d BÝQ>aEŠeZ 
\$m°a `§J Agnm`[a¨J _mB§S²>g

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 94.	 EH$ à~wÕ Am¡a _mZd g_mO H$s [anmoQ>© H$mo Bg 
Zm_ go ^r OmZm OmVm h¡

	 (A)	 AmMm`© am__y{V© H$s [anmoQ>©

	 (B)	 OZmY©Z g{_{V H$s [anmoQ>©

	 (C)	 H$moR>mar Am`moJ H$s [anmoQ>©

	 (D)	 `enmb g{_{V H$s [anmoQ>©

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$
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	 95.	 Which of the following aspects focuses 
more on physical dimensions ?

	 (A)	 Concept of growth

	 (B)	 Concept of learning

	 (C)	 Concept of development

	 (D)	 Concept of change

	 (E)	 None of the above/More than one 
of the above

	 96.	G IF means

	 (A)	G lobal Information Format
	 (B)	G raphic Interchange Format
	 (C)	G raphic Interchange File
	 (D)	G raphics Information Format
	 (E)	 None of the above/More than one 

of the above

	 97. 	 What is the full form of DPEP ?

	 (A) 	 District Programme Education 
Plan

	 (B) 	 District Primary Education Plan

	 (C) 	 Division Primary Education Plan

	 (D) 	 District Primary Education 
Programme

	 (E) 	 None of the above/More than one 
of the above

	 98.	 Orientation and refresher courses are 
the devices for competency building 
in

	 (A)	 In-service teacher education
	 (B)	 Faculty improvement programme 

for teacher education
	 (C)	 Pre-service teacher education
	 (D)	 Distance education programme 

for teachers
	 (E)	 None of the above/More than one 

of the above

	 99. 	 The best reason because of which a 
teacher can command respect from 
his students is if

	 (A) 	 He dictates notes to the class

	 (B) 	 He does not give home 
assignment

	 (C) 	 He follows innovative practices in 
the class

	 (D) 	 He reads and explains the  
text-book

	 (E) 	 None of the above/More than one 
of the above

	100.	 Which one of the following statement 
appropriately describes the position 
of Sri Aurobindo ?

	 (A)	 Art is long and time is short

	 (B)	 Man is a divine animal

	 (C)	L ife has been evolving to a higher 
level

	 (D)	L ife has a purpose

	 (E)	 None of the above/More than one 
of the above

	101.	 In which Curricular Model a school 
teacher enjoys maximum autonomy ?

	 (A)	 Administrative Model

	 (B)	G rassroot Model

	 (C)	 Demonstration model

	 (D)	 System Analysis Model

	 (E)	 None of the above/More than one 
of the above
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	 95.	 {ZåZm§{H$V _| H$m¡Z-gm nj emar[aH$ Am`m_ na 
A{YH$ µOmoa XoVm h¡ ? 

	 (A)	 d¥{Õ H$s AdYmaUm

	 (B)	 A{YJ_ H$s AdYmaUm

	 (C)	 {dH$mg H$s AdYmaUm

	 (D)	 n[adV©Z H$s AdYmaUm
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	 96.	G IF  H$m AW© h¡ 

	 (A)	 ½bmo~b BZ\°$ma_oeZ \°$m_}Q>

	 (B)	 J«m{\$H$ B§Q>aM|O \$m°_}Q>

	 (C)	 J«m{\$H$ B§Q>aM|O \$mBb

	 (D)	 J«m{\$Šg BZ\°$ma_oeZ \°$m_}Q>

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 97.	 S>r.nr.B©.nr. (DPEP) H$m nyU© ê$n h¡ 

	 (A)	 {S>{ñQ´>ŠQ> àmoJ«m_ EOwHo$eZ ßbmZ

	 (B)	 {S>pñQ´>ŠQ> àmB_ar EOwHo$eZ ßbmZ

	 (C)	 {S>drµOZ àmB_ar EOwHo$eZ ßbmZ

	 (D)	 {S>pñQ´>>ŠQ> àmB_ar EOwHo$eZ àmoJ«m_

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	 98.	 CÝ_wIrH$aU Am¡a nwZíM`© nmR²>`H«$_ A{^j_Vm 
{Z_m©U H$s `wpŠV`m± h¢

	 (A)	 godmH$mbrZ {ejH$ {ejm

	 (B)	 {ejH$ {ejm Ho$ {bE g§H$m`H$ gwYma 
H$m`©H«$_

	 (C)	 godm-nyd© {ejH$ {ejm

	 (D)	 {ejH$m| Ho$ {bE XÿañW {ejm H$m`©H«$_

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$

	 99.	 gdm}ƒ H$maU, {OgHo$ Ûmam {ejH$ AnZo N>mÌm| 
H$m gå_mZ àmßV H$a gH$Vo h¢, `{X

	 (A)	 dh H$jm _| ZmoQ²>g {bIm X|

	 (B)	 dh J¥hH$m`© Zht XoVm

	 (C)	 dh H$jm _| Zd-àdV©ZerbVm H$mo ì`dhma 
_| bmVm h¡ 

	 (D)	 dh nmR²>`nwñVH$ H$mo n‹T>H$a ì`m»`m H$aHo$	
g_PmVm h¡  

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$

	100.	 {ZåZ{b{IV _| go H$m¡Z-gm H$WZ lr Aa{dÝXmo 
Ho$ _V H$s g_w{MV ì`m»`m H$aVm h¡ ? 

	 (A)	 H$bm AZÝV h¡ Am¡a g_` H$_ h¡

	 (B)	 _Zwî` EH$ {Xì` Ord h¡

	 (C)	 OrdZ H$m CƒVa ñVa VH$ {dH$mg hmoVm 
ahVm h¡

	 (D)	 OrdZ H$m EH$ CÔoí` hmoVm h¡

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	101.	 {ZåZ{b{IV _| go {H$g nmR²>`H«$_ à{V_mZ _| 
{ejH$ H$mo g~go A{YH$ ñdm`ÎmVm àmßV hmoVr h¡ ?

	 (A)	 àemg{ZH$ à{V_mZ

	 (B)	 AmYm[aH$ à{V_mZ

	 (C)	 àXe©Z à{V_mZ

	 (D)	 àUmbr {díbofU à{V_mZ

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$
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	102. 	 By which scheme of Education,  
Craft-centred education was 
recommended ?

	 (A) 	 University Education 
Commission

	 (B) 	 Secondary Education 
Commission

	 (C) 	 Macaulay’s Minute

	 (D) 	 Wardha Scheme of Education

	 (E) 	 None of the above/More than one 
of the above

103.		 The National flagship programme of 
education (SSA) aims at

	 (A)	 Universalization of secondary	
education

	 (B)	 Special secondary academic	 
programmes

	 (C)	 Universalization of elementary 	
education

	 (D)	 Special education in primary	
schools

	 (E)	 None of the above/More than one 
of the above

	104.	 Practicum in teacher education 
courses should be implemented with 
the focus on 

	 (A)	 Social problems

	 (B)	 Professional competencies

	 (C)	 Theory courses

	 (D)	 Value orientation

	 (E)	 None of the above/More than one 
of the above

	105.	 Which one of the following is an	  
example of social mobility ?

	 (A)	 Shifting school to a far off place

	 (B)	 Deputising village youths in Indian 
Army

	 (C)	 En masse withdrawal of learners 
from school by their parents

	 (D)	 Weekend visits to villages by city 
dwellers

	 (E)	 None of the above/More than one 
of the above

	106.	 Which of the following is a 		
characteristic of Web 2.0 applications ?

	 (A)	 Web  2.0 applications are focused on 
the ability for people to collaborate 
and share information online

	 (B)	 Web 2.0 applications use only	
static pages

	 (C)	 Multiple users schedule their time 
to use Web 2.0 applications one 
by one

	 (D)	 Web 2.0 applications provide users 
with content rather than facilitating 
users to create it

	 (E)	 None of the above/More than one 
of the above

107.		 The first Virtual university in India 
came up in 

	 (A)	 Andhra Pradesh

	 (B)	 Maharashtra

	 (C)	 Tamil Nadu

	 (D)	 Uttar Pradesh

	 (E)	 None of the above/More than one 
of the above
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	102.	 {ejm H$s {H$g `moOZm Ho$ VhV H«$m°âQ-Ho$pÝÐV 
{ejm H$s {g\$m[ae H$s JB© Wr ?

	 (A)	 `y{Zd{g©Q>r EOwHo$eZ H$_reZ

	 (B)	 goH$ÊS>ar EOwHo$eZ H$_reZ

	 (C)	 _¡H$mbo Ho$ {_ZQ>

	 (D)	 dYm© ñH$s_ Am°µ\$ EOwHo$eZ

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	103.	 {ejm H$m amîQ´>r` à_wI H$m`©H«$_ (SSA) H$m 
CÔoí` h¡ 

	 (A)	 _mÜ`{_H$ {ejm H$m gmd©^m¡{_H$aU

	 (B)	 {deof _mÜ`{_H$ e¡j{UH$ H$m`©H«$_

	 (C)	 àma§{^H$ {ejm H$m gmd©^m¡{_H$aU

	 (D)	 àmW{_H$ {dÚmb`m| _| {deof {ejm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	104.	 AÜ`mnH$ {ejm nmR²>`H«$_ _| {H$g na Ü`mZ 
Ho$pÝÐV H$aVo hþE ì`mdhm[aH$Vm H$mo bmJy {H$`m 
OmZm Mm{hE ? 

	 (A)	 gm_m{OH$ g_ñ`mE±

	 (B)	 d¥{ÎmH$ gj_Vm

	 (C)	 g¡Õm§{VH$ nmR²>`H«$_

	 (D)	 _yë` CÝ_wIrH$aU

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	105.	 gm_m{OH$ J{VerbVm H$m {ZåZm§{H$V _| go H$m¡Z-gm 
CXmhaU h¡ ?

	 (A)	 XÿaXamO Ho$ ñWmZm| na {dÚmb` H$mo ñWmZm§V[aV 
H$aZm

	 (B)	 ^maVr` goZm _| J«m_rU `wdmAm| H$s {Z`wpŠV 
H$aZm

	 (C)	 A{^^mdH$m| Ûmam AnZo {dÚm{W©`m| H$m ~‹S>o 
n¡_mZo na {d{ZdV©Z

	 (D)	 eha Ho$ {Zdm{g`m| Ûmam gßVmhmÝV _| Jm±d 
H$m ^«_U

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	106.	 {ZåZ{b{IV _| go do~ 2.0 AZwà`moJm| H$s H$m¡Z-gr 
{deofVm h¡ ?

	 (A)	 do~ 2.0 H$m AZwà`moJ bmoJm| H$mo Amng _| 
{_bH$a Am°ZbmBZ gyMZm H$m AmXmZ-àXmZ 
H$aZo H$s j_Vm na H|${ÐV hmoVo h¢

	 (B)	 do~ 2.0 AZwà`moJ Ho$db An[adV©Zr` n¥îR>m| 
H$mo Cn`moJ H$aVm h¡

	 (C)	 EH$ go A{YH$ à`moJH$Îmm© do~ 2.0 Ho$ 
AZwà`moJ Ho$ {bE EH$ g_` na Ho$db EH$ 
AnZm g_` {ZYm©[aV H$aVo h¢

	 (D)	 do~ 2.0 H$m AZwà`moJ Cn`moJ H$aVm H$mo gm_J«r 
CnbãY H$amVm h¡ Z {H$ Cgo ~ZmZo H$s gw{dYm 
XoVm h¡

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	107.	 ^maV H$m nhbm Am^mgr {díd{dÚmb` H$hm± 
ñWm{nV hþAm ? 

	 (A)	 Am§Y«àXoe
	 (B)	 _hmamîQ´>
	 (C)	 V{_bZmSw>
	 (D)	 CÎmaàXoe
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$
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	108.	 The full form of PERT is

	 (A)	 Programme of Educational Review 
Technique

	 (B)	 Personality Evaluation Review 
Technique

	 (C)	 Programme of Education, Research 
and Training

	 (D)	 Programme of Evaluation Review 
Technique

	 (E)	 None of the above/More than one 
of the above

	109.	 Which of the following arrangement is 
an effective supplement for providing 
Teacher Education through distance 
mode ?

	 (A)	 Smart classrooms

	 (B)	 MOOC

	 (C)	 EDUSAT

	 (D)	 Virtual Universities

	 (E)	 None of the above/More than one 
of the above

	110.	 Which of the following is not a 
learned capability ?

	 (A)	 Cognitive strategy

	 (B)	 Verbal information

	 (C)	 Intellectual skills

	 (D)	 Interests

	 (E)	 None of the above/More than one 
of the above

	111.	 The purpose underlying vocational 
education is to focus on which of the 
following ?

	 (A)	 Training of school going students 
into gainful earning skills

	 (B)	 Balancing load of liberal 
education

	 (C)	 Work experience as a compulsory 
component

	 (D)	 Meaningful engagement of 
students

	 (E)	 None of the above/More than one 
of the above

	112.	 The idea of Four Pillars of Education 
was suggested by

	 (A)	 UNESCO

	 (B)	 UGC

	 (C)	 UNICEF

	 (D)	 NCTE

	 (E)	 None of the above/More than one 
of the above

	113.	 Which of the following instruction at 
the primary stage needs to be ?

	 (A)	 Textbook centred

	 (B)	 Teacher and Textbook centred

	 (C)	 Teacher centred

	 (D)	 Student centred

	 (E)	 None of the above/More than one 
of the above
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	108.	 nr.B©.Ama.Q>r. (PERT) H$m {dñV¥V ê$n h¡ 

	 (A)	 àmoJ«m_ Am°\$ EOwHo$eZb [aì`y Q>oH${ZH$

	 (B)	 ng©Z¡{bQ>r Bd¡ë`wEeZ [aì`y Q>oH${ZH$

	 (C)	 àmoJ«m_ Am°\$ EOwHo$eZ, [agM© EÊS> Q´>oqZJ

	 (D)	 àmoJ«m_ Am°\$ Bd¡ë`wEeZ [aì`y Q>oH${ZH$

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	109.	 {ZåZ{b{IV _| go H$m¡Z-gr ì`dñWm XÿañW nÕVr 
Ho$ _mÜ`_ go AÜ`mnH$ {ejm àXmZ H$aZo H$m 
à^mdr n[anyaH$ h¡ ?

	 (A)	 ñ_mQ>© H$jmE±

	 (B)	 ~¥hV² _wŠV Am°ZbmBZ nmR²>`H«$_ 
		  (E_.Amo.Amo.gr.)

	 (C)	 ES>w>goQ>

	 (D)	 Am^mgr {díd{dÚmb`

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$

	110.	 {ZåZ{b{IV _| go H$m¡Z-gr EH$ grIr JB© 
A{^j_Vm Zht h¡ ?

	 (A)	 g§kmZmË_H$ H$m`©Zr{V

	 (B)	 _m¡{IH$ OmZH$mar

	 (C)	 ~m¡{ÕH$ H$m¡eb

	 (D)	 A{^é{M`m±

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	111.	 A§V{Z©{hV ì`dgm{`H$ {ejm H$m à`moOZ 
{ZåZ{b{IV _| go {H$g na Ho$pÝÐV h¡ ?

	 (A)	 {dÚmb` ñVa Ho$ {dÚm{W©`m| H$m Cn`moJr 
d¥{ÎmH$ Hw$ebVmAm| Ho$ {bE à{ejU

	 (B)	 CXmadmXr {ejm Ho$ ~moP H$mo g§VwbZ _|	
aIZm

	 (C)	 EH$ A{Zdm`© KQ>H$ Ho$ ê$n _| H$m`m©Zw^d

	 (D)	 {dÚm{W©`m| H$mo gmW©H$ ê$n _| g§{bßV	 
aIZm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	112.	 {ejm Ho$ Mma ñV§^m| (Four Pillars of 
Education) H$m {dMma {H$gHo$ Ûmam gwPm`m 
J`m Wm ? 

	 (A)	 `yZoñH$mo

	 (B)	 `yyOrgr

	 (C)	 `y{Zgo\$

	 (D)	 EZgrQ>rB©

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	113.	 {ZåZ{b{IV _| go àmW{_H$ ñVa na {H$g {ZX©oe 
H$s Oê$aV h¡ ?

	 (A)	 nmR²>`nwñVH$ Ho$pÝÐV

	 (B)	 AÜ`mnH$ Ed§ nmR²>`nwñVH$ Ho$pÝÐV

	 (C)	 AÜ`mnH$ Ho$pÝÐV

	 (D)	 N>mÌ Ho$pÝÐV

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$
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	114.	 Which of the following may not be a 
barrier in education for social change ?

	 (A)	L anguage
	 (B)	 Scientific attitude
	 (C)	 Caste and ethnicity
	 (D)	 Regionalism and religion
	 (E)	 None of the above/More than one 

of the above

	115.	 “Destiny of India is being shaped in 
her classroom.” This is stated in

	 (A)	 National Policy of Education	 
(1986)

	 (B)	 University Education Commission 
(1948-1949)

	 (C)	 Education Commission		
(1964-1966)

	 (D)	 National Knowledge Commission 
(2005)

	 (E)	 None of the above/More than one 
of the above

	116.	 ‘Operation Blackboard’ was primarily 
associated with the objective of 

	 (A)	 Making all age groups literate 
enough to write Alphabets and 
their own names

	 (B)	 Improving High-Schools 
Nationwide

	 (C)	 Improving Primary Schools	  
Nationwide

	 (D)	 Making old age people able to write 
and read

	 (E)	 None of the above/More than one 
of the above

	117.	 Salamanca statement was released 
in

	 (A)	 1994

	 (B)	 1991

	 (C)	 1992

	 (D)	 1993

	 (E)	 None of the above/More than one 
of the above

	118.	 Which of the following institution is 
the apex body for controlling, guiding 
and monitoring the activities and 
programmes of DIETS and other 
centrally sponsored schemes for 
teacher education ?

	 (A)	 National Council for Educational 
Research and Training (NCERT)

	 (B)	 State Council of Educational	
Research and Training (SCERT)

	 (C)	 National Council for Teacher	
Education (NCTE)

	 (D)	 University Grant Commission	
(UGC)

	 (E)	 None of the above/More than one 
of the above

119. 	 The chairman of Basic Education 
Committee was

	 (A) 	 B.G. Kher

	 (B) 	 Narender Deo

	 (C) 	 M.K. Gandhi

	 (D) 	 Zakir Hussain

	 (E) 	 None of the above/More than one 
of the above
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	114.	 {ZåZ{b{IV _| go gm_m{OH$ n[adV©Z hoVw {ejm 
_| Š`m ~mYH$ Zht hmo gH$Vm h¡ ? 

	 (A)	 ^mfm

	 (B)	 d¡km{ZH$ ÑpîQ>H$moU

	 (C)	 Om{V Am¡a Z¥OmVr`Vm

	 (D)	 joÌdmX Am¡a Y_©

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	115.	 “^maV H$s {Z`{V CgH$s H$jm _| AmH$ma bo ahr h¡ &” 
`h H$WZ A§{H$V {H$`m J`m h¡

	 (A)	 amîQ´>r` {ejm Zr{V (1986) _|

	 (B)	 {díd{dÚmb` {ejm Am̀ moJ (1948-1949) _|

	 (C)	 {ejm Am`moJ (1964-1966) _|

	 (D)	 amîQ´>r` kmZ Am`moJ (2005) _|

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	116.	 ‘Am°naoeZ ãb¡H$~moS>©’ _ybV: _______ CÔoí` go 
Ow‹S>m hþAm Wm & 

	 (A)	 g^r Am ẁ dJm] H$mo AnZm Zm_ Am¡a dU©_mbm 
{bIZo hoVw n`m©ßV {e{jV ~ZmZm

	 (B)	 hmB© ñHy$bm| _| amîQ´>ì`mnr gwYma

	 (C)	 àmW{_H$ {dÚmb`m| _| amîQ´>ì`mnr gwYma

	 (D)	 d¥ÕmdñWm dmbo bmoJm| H$mo {bIZo Am¡a n‹T>Zo 
Ho$ `mo½` ~ZmZm

	 (E)	 Cn ẁ©ŠV _| go H$moB© Zht/Cn ẁ©ŠV _| go EH$ go 
A{YH$

	117.	 gbm_m§H$m H$WZ àH$m{eV {H$`m J`m 

	 (A)	 1994 _|

	 (B)	 1991 _|

	 (C)	 1992 _|

	 (D)	 1993 _|

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	118.	 {ZåZ{b{IV _| go H$m¡Z-gr g§ñWm {ejH$ {ejm 
Ho$ {bE S>mBQ²>g (DIETS) Am¡a Ho$ÝÐr` gaH$ma 
Ûmam àm`mo{OV AÝ` `moOZmAm| Ho$ H$m`©H$bmn 
Am¡a H$m`©H«$_m| Ho$ {Z`§ÌU, _mJ©Xe©Z Am¡a BZH$s 
{ZJamZr H$aZo dmbm erf©ñW {ZH$m` h¡ ?

	 (A)	 amîQ́>r` e¡{jH$ AZwg§YmZ Am¡a à{ejU n[afX 
(NCERT)

	 (B)	 amÁ` e¡{jH$ AZwg§YmZ Am¡a à{ejU n[afX 
(SCERT)

	 (C)	 amîQ´>r` {ejH$ {ejm n[afX (NCTE)

	 (D)	 {díd{dÚmb` AZwXmZ Am`moJ (UGC)

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$

	119.	 ~w{Z`mXr {ejm g{_{V Ho$ AÜ`j Wo 

	 (A)	 ~r.Or. Ioa

	 (B)	 ZaoÝÐ Xod

	 (C)	 E_.Ho$. Jm§Yr

	 (D)	 µOm{H$a hþgoZ

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$
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	120.	 Which one of the following is an 
essential part of the curricular 
designing process ?

	 (A)	 Development index of the	  
parents

	 (B)	 Affiliation of the school to a	  
particular school board

	 (C)	 Demographic features of the		
community

	 (D)	 Consideration of inputs, process 
and output of instruction

	 (E)	 None of the above/More than one 
of the above

	121.	 A school principal organizes a		
spectrum of co-curricular activities 
so that the maximum participation 
of students and teachers is ensured. 
Which of the following values will get 
optimally encouraged through such 
interventions ?

	 (A)	 Moral values

	 (B)	 Scientific values

	 (C)	 Religious values

	 (D)	 Democratic values

	 (E)	 None of the above/More than one 
of the above

	122.	 The concept of equalization of 
educational opportunities implies

	 (A)	 Providing resources to learners as 
per their ability

	 (B)	 Optimising learning conditions 
for success in school board	  
examinations

	 (C)	 Providing books and uniforms to 
learners

	 (D)	 Encouraging learners to study as 
many subjects as they can

	 (E)	 None of the above/More than one 
of the above

	123. 	 Which among the following is most 
precious to a teacher ?

	 (A) 	 Trust of pupils

	 (B) 	 Self-respect

	 (C) 	 Salary

	 (D) 	 Job

	 (E) 	 None of the above/More than one 
of the above

	124.	 “Object Permanence” relates to which 
of the following stages of cognitive 
development as propounded by Piaget ?

	 (A)	 Pre-operational stage
	 (B)	 Formal operational stage
	 (C)	 Sensory motor stage
	 (D)	 Concrete operational stage
	 (E)	 None of the above/More than one 

of the above

	125.	 Epilepsy is a kind of
	 (A)	 Communication disorder
	 (B)	 Psychiatric disorder
	 (C)	 Muscular disorder
	 (D)	 Neurological Impairment
	 (E)	 None of the above/More than one 

of the above

	126.	 According to which of the following all 
teacher education institutions should 
be mandatory accredited by

	 (A)	 National assessment and	  
accreditation commission

	 (B)	 Quality control council of India

	 (C)	 National assessment and 		
accreditation council

	 (D)	 Quality council of India

	 (E)	 None of the above/More than one 
of the above
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	120.	 nmR²>`H«$_ {Z_m©U à{H«$`m H$m {ZåZ{b{IV _| go 
H$m¡Z-gm EH$ A{Zdm`© KQ>H$ h¡ ?

	 (A)	 _mVm-{nVm H$m {dH$mg gyMH$m§H$
	 (B)	 {H$gr ñHy$b H$s {H$gr {d{eîQ> ñHy$b ~moS>© 

Ho$ gmW gå~ÕVm
	 (C)	 g_wXm` H$s OZm§{H$H$s` {deofVmE§
	 (D)	 AZwXoeZ Ho$ BZnwQ>, à{H«$`m Am¡a AmCQ>nwQ	

na {dMma H$aZm
	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 

A{YH$

	121.	 {H$gr {dÚmb` H$m àmMm`© nmR²>`H«$_ go g§~§{YV 
~hþV go {H«$`mH$bmn H$m Am`moOZ H$aVm h¡ 
Vm{H$ {dÚm{W©`m| Am¡a {ejH$m| H$s A{YH$V_ 
^mJrXmar gw{ZpíMV H$s Om gHo$ & Eogo hñVjon 
Ho$ _mÜ`_ go {ZåZ{b{IV _| go {H$Z _yë`mo§ H$mo 
BîQ>V_ ~‹T>mdm {_boJm ? 

	 (A)	 Z¡{VH$ _yë`
	 (B)	 d¡km{ZH$ _yë`
	 (C)	 Ym{_©H$ _yë`
	 (D)	 bmoH$Vm§{ÌH$ _yë`
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	122.	 e¡{jH$ Adgam| H$s g_mZVm H$s AdYmaUm H$m 
VmËn`© h¡

	 (A)	 {dÚm{W©`m| H$mo CZH$s `mo½`VmZwê$n g§gmYZ 
CnbãY H$amZm

	 (B)	 {dÚmb` AmYm[aV narjmAm| _| g\$bVm 
hoVw A{YJ_ H$s n[apñW{V`m| H$mo BîQ>V_ 
~ZmZm

	 (C)	 {dÚm{W©`m| H$mo nwñVH|$ Ed§ `y{Z\$m_© _wh¡`m 
H$amZm

	 (D)	 {dÚm{W©̀ m| H$mo A{YH$m{YH$ {df`m| H$mo grIZo 
Ho$ {bE àmoËgm{hV H$aZm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	123.	 EH$ {ejH$ Ho$ {bE {ZåZ{b{IV _| Š`m 
gdm©{YH$ A_yë` h¡ ?

	 (A)	 N>mÌm| H$m {dídmg
	 (B)	 AmË_-gå_mZ
	 (C)	 doVZ
	 (D)	 Zm¡H$ar
	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 

A{YH$

	124.	 {n`mOo H$s g§kmZmË_H$ {dH$mg H$s AdñWmAm| 
_| “dñVwñWm{`Ëd” gå~pÝYV h¡

	 (A)	 nyd© g§{H«$`mË_H$ AdñWm

	 (B)	 AmH$m[aH$ g§{H«$`mË_H$ AdñWm

	 (C)	 g§do{XH$ J{Verb AdñWm

	 (D)	 ñWyb g§{H«$`mË_H$ AdñWm

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$

	125.	 {_aJr EH$ àH$ma H$m ___________ h¡ & 

	 (A)	 gåàofU {dH$ma

	 (B)	 _ZmoamoJ OÝ` {dH$ma

	 (C)	 _m§gnoer` {dH$ma

	 (D)	 ñZm`{dH$ {dH$ma

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	126.	 {ZåZ{b{IV _| go {H$gHo$ AZwgma g^r {ejH$ 
{ejm g§ñWmZm| H$mo AmXoemË_H$ _mÝ`Vm àmßV H$s 
OmZr Mm{hE ?

	 (A)	 amîQ´>r` {ZYm©aU VWm àË`m`Z Am`moJ

	 (B)	 ^maV H$s JwUdÎmm {Z`§ÌU n[afX

	 (C)	 amîQ´>r` {ZYm©aU VWm àË`m`Z n[afX

	 (D)	 ^maV H$s JwUdÎmm n[afX

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$
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	127.	 Which one of the following pairs is 
odd (or not properly associated) ?

	 (A)	 Maria Montessori-Divergent	 
thinking

	 (B)	G andhiji-Soiled hands

	 (C)	 Froebel-Play way

	 (D)	 Keller Co-operative learning

	 (E)	 None of the above/More than one 
of the above

	128.	 The purpose of common school 
system is to address the issue of

	 (A)	 Caste based reservation system

	 (B)	 Extraneous interference in 
education

	 (C)	 Evils of modernity

	 (D)	 Social equity

	 (E)	 None of the above/More than one 
of the above

	129.	 Which of the following is not a 
function of NCERT ?

	 (A)	 Conducting school certificate	
examinations

	 (B)	 Advising government on education 
policies

	 (C)	 Writing textbooks for schools

	 (D)	 Financing research in school	
education

	 (E)	 None of the above/More than one 
of the above

	130.	 Motive is a

	 (A)	 Specific trait

	 (B)	 Particular condition of an	  
individual

	 (C)	G eneral trait

	 (D)	 Desire

	 (E)	 None of the above/More than one 
of the above

	131.	 What is the name for a webpage 
address ?

	 (A)	 Protocol

	 (B)	 Domain

	 (C)	 Directory

	 (D)	 URL

	 (E)	 None of the above/More than one 
of the above

	132.	 The most powerful constraint in 		
attaining universalisation of primary 
education in India is related to

	 (A)	 Regional politics

	 (B)	 Financial allocation

	 (C)	 Caste consideration

	 (D)	 Availability of teachers

	 (E)	 None of the above/More than one 
of the above
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	127.	 {ZåZ{b{IV _| go H$m¡Z-gm `w½_ Ag§JV h¡ (`m 
nyar Vah go gå~pÝYV Zht h¡) ?

	 (A)	 _m[a`m _m|Q>ogar-S>mBdO]Q> qWqH$J

	 (B)	 Jm±YrOr -gmoBëS> h¢S²>g

	 (C)	 \«$mo~ob-ßbo do

	 (D)	 Ho$ba H$mo-Amonao{Q>d b{ZªJ

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	128.	 {ZåZ{b{IV _| go gm_mÝ` ñHy$b àUmbr {H$g 
_wÔo H$m g_mYmZ H$aVm h¡ ? 

	 (A)	 Om{V AmYm[aV AmajU àUmbr

	 (B)	 {ejm _| ~mø hñVjon

	 (C)	 AmYw{ZH$Vm H$s ~wamB`m±

	 (D)	 gm_m{OH$ g_mZVm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	129.	 {ZåZ{b{IV _| go H$m¡Z-gm NCERT H$m H$m`© 
Zht h¡ ?

	 (A)	 {dÚmb` à_mU nÌ narjm g§Mm{bV H$aZm

	 (B)	 {ejm Zr{V`m| na gaH$ma H$mo gbmh XoZm

	 (C)	 {dÚmb`m| Ho$ {bE nmR²>` nwñVH|$ {bIZm

	 (D)	 {dÚmb` {ejm _| {dÎm nmofU AZwg§YmZ

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	130.	 àoaH$ EH$ __________ h¡ & 

	 (A)	 {ZpíMV `m Img {deofH$

	 (B)	 {H$gr ì`pŠV H$s {deof pñW{V

	 (C)	 gm_mÝ` {deofH$

	 (D)	 A{^bmfm `m Vrd« BÀN>m

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	131.	 do~-n¥îR> nVo (ES´>og) Ho$ {bE Š`m Zm_ h¡ ? 

	 (A)	 àmoQ>moH$m°b

	 (B)	 S>mo_oZ

	 (C)	 S>m`aoŠQ>ar

	 (D)	 `y.Ama.Eb.

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	132.	 ^maV _| àmW{_H$ {ejm Ho$ gmd©^m¡{_H$aU H$mo 
àmßV H$aZo _| g~go epŠVembr ~mYm g§~§{YV h¡

	 (A)	 joÌr` amOZr{V

	 (B)	 {dÎmr` Am~§Q>Z

	 (C)	 Om{V {dMma

	 (D)	 {ejH$m| H$s CnbãYVm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$
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133. 	 According to Piaget, Egocentric is

	 (A) 	 Sensory motor stage

	 (B) 	 Environment is centre of 
knowledge

	 (C) 	 Child is the centre of world and 
everything revolves around him

	 (D)	 All of the above

	 (E) 	 None of the above/More than one 
of the above

	134.	 Which of the following tools will 
be used to predict the wellness of 
a student in his performance in a 
particular job ?

	 (A)	 Aptitude test

	 (B)	 Interest test

	 (C)	 Attitude test

	 (D)	 Intelligence test

	 (E)	 None of the above/More than one 
of the above

	135.	 Occupational therapy does not 
include 	

	 (A)	 Speech therapy

	 (B)	 Placement in suitable 
occupations

	 (C)	 Therapy in mental health

	 (D)	 Physical therapy

	 (E)	 None of the above/More than one 
of the above

	136.	 What is the full form of USB as used 
in computer related activities ?

	 (A)	 Universal Serial Bus

	 (B)	 Ultra Security Block

	 (C)	 Universal Security Block

	 (D)	 United Serial Bus

	 (E)	 None of the above/More than one 
of the above

	137.	 National Curriculum Framework for 
Teacher Education, 2009 (NCFTE) 
focuses on preparing teacher who is

	 (A)	 Well versed with method of 		
disciplining students

	 (B)	 Having good social relations

	 (C)	 Knowledgeable teacher

	 (D)	 A reflective teacher

	 (E)	 None of the above/More than one 
of the above

	138.	 In which year Person with Disabilities 
Act (PWD Act) has enacted by 
Government of India ?

	 (A)	 1985

	 (B)	 1999

	 (C)	 1994

	 (D)	 1995

	 (E)	 None of the above/More than one 
of the above
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	133.	 {n`mOo Ho$ AZwgma, Ah§ H|${ÐV h¡ 

	 (A)	 g§doXr àoaH$ AdñWm

	 (B)	 dmVmdaU kmZ H$m Ho$ÝÐ h¡

	 (C)	 ~mbH$ {díd H$m Ho$ÝÐ h¡ Am¡a ha MrO CgHo$ 
BX©-{JX© Ky_Vr h¡ 

	 (D)	 CnamoŠV g^r

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ 
go A{YH$

	134.	 {ZåZ{b{IV _| go EH$ {deof amoOJma _| EH$ N>mÌ 
Ho$ CgHo$ AÀN>o àXe©Z H$m nydm©Zw_mZ bJmZo Ho$ 
{bE {H$g CnH$aU H$mo à`moJ _| bm`m Om òJm ? 

	 (A)	 A{^`mo½`Vm narjU

	 (B)	 é{M narjU

	 (C)	 A{^d¥{Îm narjU

	 (D)	 ~w{Õ narjU

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	135.	 ì`mdgm{`H$ {M{H$Ëgm Ho$ AÝVJ©V {ZåZ{b{IV 
_| go Š`m Zht AmVm h¡ ? 

	 (A)	 dmUr {M{H$Ëgm

	 (B)	 Cn`wŠV ì`dgm`m| _| ñWmnZ

	 (C)	 _mZ{gH$ ñdmñÏ` g§~§Yr {M{H$Ëgm

	 (D)	 emar[aH$ {M{H$Ëgm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	136.	 H$åß`yQ>a go g§~§{YV H$m`m] _| à`moJ hoVw 
`y.Eg.~r. H$m nyam ê$n Š`m h¡ ? 

	 (A)	 `yZrdg©b gr[a`b ~g

	 (B)	 AëQ´>m {gŠ`mo[aQ>r ãbm°H$

	 (C)	 `yZrdg©b {gŠ`mo[aQ>r ãbm°H$

	 (D)	 `yZmBQ>oS> gr[a`b ~g

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	137.	 {ejH$ {ejm Ho$ {bE amîQ́>r` nmR²̀ M`m© ê$naoIm, 
2009 (NCFTE) {H$g àH$ma Ho$ {ejH$ V¡̀ ma 
H$aZo na Ho$pÝÐV h¡ >?

	 (A)	 ~ƒm| H$mo AZwem{gV H$aZm ̂ br^m±{V OmZVm 
hmo

	 (B)	 {OgHo$ gm_m{OH$ g§~§Y AÀN>o hmo

	 (C)	 kmZr {ejH$

	 (D)	 qMVZerb {ejH$

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$

	138.	 {Z:eŠV ì`pŠV A{Y{Z`_ (nr.S>ãë`y.S>r.EŠQ>), 
^maV gaH$ma Ûmam {H$g df© A{Y{Z`{_V {H$`m 
J`m ? 

	 (A)	 1985

	 (B)	 1999

	 (C)	 1994

	 (D)	 1995

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$
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	139.	 Motivation should usually be 
followed by

	 (A)	 Incentive

	 (B)	 Punishment

	 (C)	 Reward

	 (D)	 Knowledge of result

	 (E)	 None of the above/More than one 
of the above

	140.	 Brain storming procedures are helpful 
especially for which category of	  
children ?

	 (A)	 Backward children

	 (B)	 Mentally retarded children

	 (C)	G ifted children

	 (D)	 Creative children

	 (E)	 None of the above/More than one 
of the above

	141.	 The basic purpose of educational 
supervision is to	

	 (A)	 Ensure effective teaching-learning 
ambience in the school

	 (B)	 Ensure compliance of set rules 
and procedures

	 (C)	 Ensure better result of students 
in the board examination

	 (D)	 Ensure maximum attendance of 
learners in the school

	 (E)	 None of the above/More than one 
of the above

	142.	 Which of the following article ensured, 
the right to free and compulsory 
education at primary education level 
in our Constitution ?

	 (A)	 Article 21B of 2002 - Act

	 (B)	 Article 21A of 2002 - Act

	 (C)	 Article 21A of 2009 - Act

	 (D)	 Article 45 of directive principles

	 (E)	 None of the above/More than one 
of the above

	143.	 During which of the following stage 
peer group membership has high 
educational implications ?

	 (A)	 Adolescence

	 (B)	 Adulthood

	 (C)	 Childhood

	 (D)	L ater childhood

	 (E)	 None of the above/More than one 
of the above

	144.	 Which of the following is not an	  
element of Inclusive Education ?

	 (A)	 Zero rejection

	 (B)	 Special class placement

	 (C)	 Regard for diversity

	 (D)	 Collaboration

	 (E)	 None of the above/More than one 
of the above
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	139.	 A{^àoaUm H$m AZwgaU Am_Vm¡a na ________ 
Ho$ Ûmam {H$`m OmZm Mm{hE &

	 (A)	 àmoËgmhZ

	 (B)	 gOm

	 (C)	 BZm_

	 (D)	 n[aUm_ H$m kmZ

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	140.	 {dMmamdoe à{H«$`mE± {deofH$a {H$g loUr Ho$ 
~mbH$m| Ho$ {bE ghm`H$ hmoVr h¢ ? 

	 (A)	 {nN>‹S>o ~mbH$m| Ho$ {bE

	 (B)	 _§X~w{Õ ~mbH$m| Ho$ {bE

	 (C)	 à{V^membr ~mbH$m| Ho$ {bE

	 (D)	 g¥OZerb ~mbH$m| Ho$ {bE

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	141.	 e¡j{UH$ n`©dojU H$m _yb à`moOZ h¡ 

	 (A)	 ñHy$b _| à^mdr {ejU A{YJ_ dmVmdaU 
gw{ZpíMV H$aZm

	 (B)	 {ZYm©[aV {Z`_m| Ed§ à{H«$`mAm| H$m AZwnmbZ 
gw{ZpíMV H$aZm

	 (C)	 ~moS>© H$s narjmAm| _| N>mÌm| H$m ~ohVa n[aUm_ 
gw{ZpíMV H$aZm

	 (D)	 ñHy$b _| A{YJ_H$Îmm©Am| H$s A{YH$V_ 
CnpñW{V gw{ZpíMV H$aZm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	142.	 {ZåZ{b{IV _| go {H$gHo$ A§VJ©V h_mao g§{dYmZ 
_| àmW{_H$ {ejm Ho$ ñVa na {Z:ewëH$ Am¡a 
A{Zdm`© {ejm H$m A{YH$ma gw{ZpíMV {H$`m 
J`m h¡ ?

	 (A)	 2002 Ho$ A{Y{Z`_ H$m AZwÀN>oX 21 B

	 (B)	 2002 Ho$ A{Y{Z`_ H$m AZwÀN>oX 21 A

	 (C)	 2009 Ho$ A{Y{Z`_ H$m AZwÀN>oX 21 A

	 (D)	 Zr{V {ZX}eH$ {gÕm§Vm| H$m AZwÀN>oX 45

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	143.	 {H$g {ZåZ AdñWm Ho$ Xm¡amZ g_dJu` g_yh 

gXñ`Vm Ho$ e¡{jH$ {Z{hVmW© Cƒ hmoVo h¢ ? 

	 (A)	 {H$emoamdñWm

	 (B)	 àm¡‹T>mdñWm

	 (C)	 ~më`mdñWm

	 (D)	 CÎma ~më`mdñWm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	144.	 {ZåZ{b{IV _| go H$m¡Z-gm g_mdoer {ejm H$m	

VËd Zht h¡ ?

	 (A)	 eyÝ` AñdrH¥${V

	 (B)	 {deof dJ© ñWmnZm

	 (C)	 {d{dYVm Ho$ à{V gå_mZ

	 (D)	 gh`moJ

	 (E)	 Cn ẁ©º$ _| go H$moB© Zht/Cn ẁ©º$ _| go EH$ go 
A{YH$
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	145. 	 Who is the founder of play way 
method ?

	 (A) 	 Montessori

	 (B) 	 Rousseau

	 (C) 	 Froebel

	 (D) 	 John Dewey

	 (E) 	 None of the above/More than one 
of the above

	146.	 National Education Day is celebrated 
in India every year on

	 (A)	 5 October

	 (B)	 8 September

	 (C)	 5 September

	 (D)	 11 November

	 (E)	 None of the above/More than one 
of the above

	147.	 The school level education enforces 
the policy of free and compulsory 
education for girls and socially 
disadvantaged section of a society. 
This represents the drive for

	 (A)	 Equity and equality

	 (B)	 Addressing diverse needs

	 (C)	 Promoting talents

	 (D)	 Ensuring security

	 (E)	 None of the above/More than one 
of the above

	148. 	 In which country the Kindergarten 
schools were introduced ?

	 (A) 	 England

	 (B) 	 Italy

	 (C) 	 France

	 (D) 	G ermany

	 (E) 	 None of the above/More than one 
of the above

	149.	 According to RTE Act,  admission of 
a child to a particular class is on the 
basis of

	 (A)	 age of child

	 (B)	 Education of parents

	 (C)	 ability of child

	 (D)	 Socio-Economic status of child

	 (E)	 None of the above/More than one 
of the above

	150.	 Which of the following thinker defined 
education as ‘divine perfection already 
existing in man’ ?

	 (A)	 Swami Vivekananda

	 (B)	 Rabindranath Tagore

	 (C)	 M. K. Gandhi

	 (D)	 Aurobindo Ghosh

	 (E)	 None of the above/More than one 
of the above
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	145.	 Iob {d{Y H$m à{VnmXH$ {H$go _mZm OmVm h¡ ?

	 (A)	 _m|Q>ogar

	 (B)	 ê$gmo

	 (C)	 \«$mo~ob

	 (D)	 Om°Z S>rdr

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	146.	 ^maV _| ha gmb amîQ´>r` {ejm {Xdg _Zm`m 
OmVm h¡ 

	 (A)	 5 AŠQy>~a H$mo

	 (B)	 8 {gV§~a H$mo

	 (C)	 5 {gV§~a H$mo

	 (D)	 11 Zdå~a H$mo

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	147.	 {dÚmb` ñVa H$s {ejm ~m{bH$mAm| Am¡a 
g_mO Ho$ gm_m{OH$ ê$n go {nN>‹S>o dJ© Ho$ {bE 
{Z:ewëH$ Am¡a A{Zdm`© {ejm H$s Zr{V H$mo bmJy 
H$aVm h¡ & `h {H$g A{^`mZ H$m à{V{Z{YËd 
H$aVm h¡ ? 

	 (A)	 g_mZVm Am¡a g_Vm

	 (B)	 {d{dY Oê$aVm| H$mo nyam H$aZm

	 (C)	 à{V^m H$mo àmoËgm{hV H$aZm

	 (D)	 gwajm gw{ZpíMV H$aZm

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	148.	 qH$S>aJmQ>}Z ñHy$b {H$g Xoe _| àmaå^ {H$E  
JE Wo ?

	 (A)	 B§½b¢S>

	 (B)	 BQ>br

	 (C)	 \«$m§g

	 (D)	 O_©Zr

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	149.	 {ejm Ho$ A{YH$ma A{Y{Z`_ Ho$ AZwgma, H$jm 
_| ~ƒo Ho$ àdoe H$m AmYma h¡

	 (A)	 ~mbH$ H$s C_«

	 (B)	 _mVm-{nVm H$s {ejm

	 (C)	 ~mbH$ H$s `mo½`Vm

	 (D)	 ~mbH$ H$m gm_m{OH$-Am{W©H$ ñVa

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$

	150.	 {ZåZ _| go H$m¡Z-go {ejm {MÝVH$ Zo {ejm H$mo 
‘ _mZd _| nh>bo go hr {dÚ_mZ X¡dr` nyU©Vm’ Ho$ 
ê$n _| n[a^m{fV {H$`m h¡ ? 

	 (A)	 ñdm_r {ddoH$mZÝX

	 (B)	 a{dÝÐZmW Q>¡Jmoa

	 (C)	 E_.Ho$. Jm±Yr

	 (D)	 Aa{dÝXmo Kmof

	 (E)	 Cn`w©º$ _| go H$moB© Zht/Cn`w©º$ _| go EH$ go 
A{YH$
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SPACE  FOR  ROUGH  WORK / aµ\$ H$m`© Ho$ {bE ñWmZ 



06/HT/M–2024 Cå_rXdma H$m AZwH«$_m§H$

 

àíZ-nwpñVH$m

gm_mÝ` AÜ``Z Ed§ S>r.Eb.ES>.

g_` : 2:30 KÊQ>o	 nyUmªH$ : 150

àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü`mZ go n‹T> b| &

_hÎdnyU© AZwXoe
	 1.	 `h àíZ-nwpñVH$m Xmo ^mJm| _| {d^m{OV h¡ — ^mJ – I Ed§ ^mJ – II & ^mJ – I _| gm_mÝ` AÜ``Z Ho$ àíZ h¢ VWm ^mJ – II _| S>r.Eb.ES>. 

Ho$ àíZ h¢ &

	 2.	 ^mJ – I _| àíZ g§»`m 1 go 75 VWm ^mJ – II _| àíZ g§»`m 76 go 150 VH$ h¢ & ^mJ – I VWm ^mJ – II _| àíZ Am¡a CZHo$ CÎma A§J«oOr 
Ed§ {hÝXr _| _w{ÐV h¢ &

	 3.	 g^r àíZm| H$m A§H$ g_mZ h¡ &

	 4.	 àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo CÎma nÌH$ àíZ nwpñVH$m Ho$ AÝXa {X`m J`m h¡ & AnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ 
{bIo Ed§ Hy$Q>~Õ H$a| VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om±Mm Zht Om`oJm &

	 5.	 narjm Amaå^ hmoVo hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$na Xm`t Amoa _w{ÐV 
ûm¥§Ibm Ed§ CÎma nwpñVH$m na _w{ÐV ûm¥§Ibm g_mZ h¡ & H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a\$ H$m`© hoVw Xmo n¥îR>m| (n¥îR> g§. 46 Am¡a 47) g{hV 
nyao 48 _w{ÐV n¥îR> h¢ Am¡a H$moB© àíZ `m n¥îR> {~Zm N>nm hþAm `m \$Q>m hþAm `m Xmo~mam Am`m hþAm `m àíZ nwpñVH$m Ed§ CÎma nwpñVH$m _| _w{ÐV 
ûm¥§Ibm _| AÝVa Vmo Zht h¡ & nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m _| {H$gr àH$ma H$s Ìw{Q> nmZo na VËH$mb BgHo$ ~Xbo Bgr ûm¥§Ibm H$s Xÿgar ghr 
nwpñVH$m Ed§ Amo.E_.Ama. n{ÌH$m bo b| &

	 6.	 Bg n¥îR> Ho$ D$na {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ Adí` {bI| & àíZ-nwpñVH$m na Am¡a Hw$N> Z {bI| &

	 7.	 àË`oH$ àíZ Ho$ nm±M CÎma — (A), (B), (C), (D) Am¡a (E) H«$_ na {X`o J`o h¢ & CZ_| go Amn g~go ghr Ho$db EH$ CÎma H$mo MwZ| Am¡a 
AnZo CÎma nÌH$ na A§{H$V H$a| & AmnH$m Hw$b àmßVm§H$ AmnHo$ Ûmam CÎma nÌH$ _| A§{H$V ghr CÎmam| na {Z^©a H$aoJm &

	 8.	 CÎma nÌH$ _| àË`oH$ àíZ g§»`m Ho$ gm_Zo nm±M d¥Îm Bg àH$ma ~Zo hþE h¢ — A , B , C , D  Am¡a E  & àíZm| Ho$ CÎma XoZo Ho$ {bE 
AmnH$mo AnZr ngÝX Ho$ Ho$db EH$ d¥Îm H$mo H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ go {M{•V H$aZm h¡ & àË`oH$ àíZ Ho$ {bE Ho$db EH$ 
CÎma H$mo MwZ| Am¡a Cgo AnZo CÎma nÌH$ _| {M{•V H$a| & Amn CÎma nÌH$ _| `{X EH$ àíZ Ho$ {bE EH$ go A{YH$ d¥Îm _| {ZemZ bJmVo h¢, 
Vmo AmnH$m CÎma JbV _mZm Om`oJm & CÎma nÌH$ _| CÎma H$mo {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ H$m hr à`moJ 
H$a| & {H$gr ^r àH$ma H$m H$mQ>-Hy$Q> AWdm n[adV©Z _mÝ` Zht h¡ &

	 9.	 àíZ-nwpñVH$m go H$moB© nÞm \$m‹S>Zm `m AbJ H$aZm _Zm h¡ & àíZ-nwpñVH$m Am¡a CÎma nÌH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha H$Xm{n 
Z bo Om`| & narjm Ho$ g_mnZ na CÎma nÌH$ drjH$ H$mo Adí` gm¢n X| & CgHo$ ~mX AmnH$mo AnZr àíZ-nwpñVH$m AnZo gmW bo OmZo H$s 
AZw_{V h¡ &

	 10.	 D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h¡ AWdm AmnH$mo 
XÊS> {X`m Om gH$Vm h¡ & 

	 11.	 Aä`Wu CÎma nÌH$ H$mo AnZr CnpñW{V _| Self Adhesive LDPE Bag _| nyar Vah go n¡H$/grb H$admZo Ho$ Cnam§V hr narjmH$j H$mo 
N>mo‹S>| &

 Note : English version of the instructions is printed on the First Page of this Booklet.
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